—

IINE,

PLEASE NOTE: — DESIGNER LIABILITY LIMITED TO THE PREPARATION OF THE DRAWINGS WITH THE PARAMETER CONTRACTED AND ASCERTAINING TO CODE OWNERS INFORMATION: BUILDING DESIGN SNOW
COMPLIANCE. NAME- . . LOADS:
— THESE DRAWINGS ARE DIAGRAMMATIC AND SHALL NOT BE SCALED. ADDITIONAL DATA SHALL BE RECEIVED FROM THE ENGINEER O DDRESS: R _ 400 PSF
THROUGH WRITTEN CLARIFICATION ONLY. VERIFY ALL EXISTING CONDITIONS, ELEVATIONS, & DIMENSIONS BEFORE PROCEEDING WITH ANY T AESS: 228 0o - (Pg) = 400
PORTION OF ANY WORK. ~ STATE: T— — (Ce) = 090
— NO CHANGES, MODIFICATIONS, OR DEVIATIONS SHALL BE MADE FROM THESE DRAWINGS OR SPECIFICATIONS WITHOUT FIRST SECURING ComTE £ 601 - (Is) = 100
WRITTEN PERMISSION FROM THE ENGINEER. - ZIP: 24601 ~ (ct) = 110
— WHERE LACK OF INFORMATION, OR ANY DISCREPANCY SHOULD APPEAR IN THE DRAWINGS OR SPECIFICATIONS, REQUEST WRITTEN — (Pf) = 2772 PSF
INTERPRETATION FROM THE ENGINEER BEFORE PROCEEDING WITH THAT PORTION OF THE WORK. BUILDING .DESIGN INFORMATION: — (Cs) - 0093
— IMPORTANT!! THIS BUILDING IS DESIGNED USING THE ROOF AS A DIAPHRAGM (DEEP THIN BEAM) TO TRANSFER SIDEWALL AND ROOF — (Ps) = 2586 PSF
WIND LOADS TO THE ENDWALL SHEAR WALLS. STEEL PANELS ARE AN INTEGRAL PART OF THE BUILDING STRUCTURE AND ANY FUTURE = DESIGN 'CODE: Y _COMM. BLDC. Tuigg — (L) —  20.00 PSF
FIELD MODIFICATIONS MADE MAY BE DETRIMENTAL TO THE BUILDING'S STRUCTURAL PERFORMANCE. POt OF TING: . BUSINESS *WITH UNBALANCED LOADS AND DRIFT
— ROOF SYSTEM USES A SLIPPERY ROOF SURFACE. THE USE OF ACCESSORIES TO PREVENT THE SLIDING OF SNOW IS NOT PERMITTED. - 885‘;%\%{0‘;"—‘,\[%'?0‘\“0“- NS LOADS AS REQUIRED.
SolL: — OWNER RESPONSIBLE FOR VERIFYING SITE SOIL CONDITIONS. ALL SOILS TO MEET OR EXCEED REQUIREMENTS AS REFERENCED IN THE — RISK CATEGORY: 2
GENERAL NOTES. CONSULT GEOTECHNICAL ENGINEER IF NECESSARY. — FIRE SUPPRESSION, SYSTEM:  NO WIND
— ALL SOILS BELOW CONCRETE SHALL BE A NON—FROST SUSCEPTIBLE SOIL AS REQUIRED IN ASCE 32.
— FOOTINGS TO BE ABOVE THE WATER TABLE - B.W.S. = 115 MPH
— ALL FOOTINGS AND SLAB TO BEAR ON UNDISTURBED INORGANIC SOIL OR SOIL COMPACTED TO 95% MODIFIED PROCTOR DENSITY. BUILDING AREA: — EXPOSURE = C
— SOIL DESIGN BASED ON IBC CHAPTER 18 (CHAPTERS 16, 19, 21, 22 AND 23) 8692 SOFT
- : _8692 SQFT
— PRESUMPTIVE SOIL TYPE FROM WEB SOIL SURVEY, USDA AND NRCS: (CLASS OF MATERIAL: SW, SP, SM, AND SC). QEESNSFFXVggg areN TR
— SOIL CONSISTENCY: MEDIUM = : 1482 SQF [ SEISMIC
— A SOIL BEARING PRESSURE AT GRADE ASSUMED AT A MINIMUM 2000 PSF. - EX'ST'NG BUILDING AREA: ST
— TOTAL BUILDING AREA: 10174 SQFT — SEISMIC IMPORTANCE FACTOR: 1.0
CONCRETE: — CONCRETE SHALL BE IN ACCORDANCE WITH ACI 318. — SPECTRA RESPONSE
— CONCRETE SHALL HAVE A MINIMUM COMPRESSIVE STRENGTH OF 3000 PSI AT 28 DAYS. COEFFICIENT SDS: 0.056
— ALL DEFORMED REBAR SHALL MEET A615 GRADE 60 OR BETTER. ALLOWABLE AREA: — SPECTRA RESPONSE
' 9000 SOFT COEFFICIENT SD1: 0.057
LUMBER: — ALL WOOD CONSTRUCTION SHALL BE OF MATERIALS SHOWN AND WORKMANSHIP SHALL BE IN ACCORDANCE TO THE NATIONAL FOREST — TABLE AREA: . 9000 SQFT — SITE CLASSIFICATION: D
PRODUCTS ASSOCIATION SPECIFICATIONS FOR WOOD CONSTRUCTION. — PERIMETER INCREASE: 1482 SQFT — SEISMIC DESIGN CATEGORY: A
— ALL 2x4, 2x6, 2x8 LUMBER SHALL BE #2 SPF OR BETTER UNLESS NOTED OTHERWISE. ALL 2x10 & 2x12 LUMBER SHALL BE AS — SPRINKLER INCREASE: Q SQFT
SPECIFIED ON THE BUILDING PRINT. — TOTAL ALLOWABLE AREA: 12273 SQFT
— FOR LUMBER REQUIRED TO BE PROTECTED FROM DECAY AND/OR INSECTS, SEE MOST CURRENT AWPA U1 FOR USE CATEGORIES AND TRUSS DEAD LOADS
EXPOSURE CONDITIONS.
- DLTC = _4 PSF
STEEL TRIMS: — COLOR MATCHED STEEL TRIMS — DLBC = 10 PSF
— CERAM—A—STAR 1050 PAINT SYSTEM
SECOND FLOOR LOADS
FRAMING FASTENERS: — ALL FASTENERS SHALL BE AS LISTED BELOW UNLESS OTHERWISE NOTED.
— ALL FASTENERS SHALL BE EXTERIOR RATED FINISH UNLESS NOTED OTHERWISE. — LIVE LOAD = 50 PSF
— DEAD LOAD = 15 PSF
— 16d RINGSHANK NAILS (.148"9) — 10d RINGSHANK NAILS (.135"@)
—  30d RINGSHANK NAILS (.177"9) — 16d RINGSHANK NAILS (.148"9)
— 60d RINGSHANK NAILS (.200"9) —  30d RINGSHANK NAILS (.177"8)
— ALL MITEK PRODUCTS, I.E. JOIST HANGERS, TRUSS TIES, FRAMING ANGLES, ETC., SHALL BE SECURED PER MANUFACTURER'S
SPECIFICATIONS UNLESS NOTED OTHERWISE.
s\ I.s \ . @ ) \TJ 5 )-[r]- JTJ-[r]- . \I.l J©‘ \S r ©‘\ T=0TNS TJ\
A — U R B l R r J r R ? — r ) _) D = D J r e
PANEL FASTENERS: — COLOR MATCHED GALVANIZED WOODGRIP SCREWS, #10 DIAMETER, 1/4” HEX HEAD. Mﬁ'—;A'—'JJ J—lR-' S-j = —lR'-' J g = —lR-"—:A'—'h - JM'—lP JN E'N = s
HANDLING AND STORING: — ALL STEEL PANELS AND TRUSS PRODUCTS SHOULD BE HANDLED AND STORED PER MANUFACTURER SPECIFICATIONS. MIDWEST MANUFACTURING STRUCTURAL COMPONENTS (COLUMNS TRUSSES. AND STEEL) ARE USED IN
’ b
GRADE: — ALL FINISHED GRADES TO SLOPE AWAY FROM BUILDING AT A MIN. 5% GRADE FOR PROPER DRAINAGE (2% FOR IMPERVIOUS SURFACES) THE DESIGN OF THIS BUILDING. ANY DEVIATIONS OR SUBSTITUTIONS OF THESE MATERIALS REQUIRE A
(IBC 1804). CHANGE ORDER DUE TO THE DESIGN VALUES OF THE MATERIALS SPECIFIED.
CONSTRUCTION BRACING: — TEMPORARY BRACING DURING CONSTRUCTION SHALL BE CONTRACTORS’ RESPONSIBILITY:'REFERNTO BCSI-B1 AND/OR-B10 SUMMARY
SHEET "GUIDE FOR HANDLING, INSTALLING, RESTRAINING AND BRACING OF TRUSSES', BY THE TRUSS PLATE INSTITUTE (TPI) AND THE *A CHANGE ORDER CAN BE OBTAINED FROM ENGINEERING@MIDWESTMANUFACTURING.COM AND IS ENGINEERING SERVICES
WOOD TRUSS COUNGIL OF AMERICA (WTCA) REQUIRED FOR ANY STRUCTURAL, LAYOUT, OR MATERIAL CHANGES. 5911 KANE RD. EAU CLAIRE, W1 54705 (715) a76-5565
HVAC: — HEATING, VENTING, AND AIR CONDITIONING REQUIREMENTS WERE NOT ADDRESSED ON THE DRAWINGS AND SHOULD BE APPROVED BY FOR QUESTIONS PLEASE CONTACT BUILDING
LOCAL OFFICIALS. COLUMNS: — ALL LAMINATED COLUMNS SHALL BE MIDWEST MANUFACTURING'S, RIVET CLINCHED, WITH STEEL REINFORCED JOINTS DESIGNER AT THE FOLLOWING:
UNLESS SPECIFIED OTHERWISE. ENGINEERING@MIDWESTMANUFACTURING.COM
PLUMBING: — PLUMBING REQUIREMENTS WERE NOT ADDRESSED ON THE DRAWINGS AND SHOULD BE INSTALLED IN ACCORDANCE WITH REQUIRED
BUILDING CODES. PROJECT TITLE:
TRUSSES: — DESIGNED IN ACCORDANCE TO 2015 IBC
ELECTRICAL: — ELECTRICAL REQUIREMENTS WERE NOT ADDRESSED'ON THE DRAWINGS AND'SHOULD BE INSTALLED IN ACCORDANCE WITH THE TPl APPROVED
NATIONAL ELECTRICAL CODE AND ANY LOCAL CODES. SHEET INDEX THIRD PARTY INSPECTED LA CROSSE AREA
EXIT LIGHTS: — EXIT SIGNS SHALL BE ILLUMINATED AT ALL TIMES. TO ENSURE CONTINUED ILLUMINATION FOR A DURATION OF NOT LESS THAN 90 SHEET # SHEET DESCRIPTION ~ MIDWEST MANUFACTURING TRUSS QUOTE NUMBER: QTRECOE98189 (ROOF) QTREC (FLOOR)
MINUTES IN CASE OF PRIMARY POWER LOSS, THE EXIT SIGNS SHALL BE CONNECTED TO"AN-EMERGENCY ELECTRICAL SYSTEM PROVIDED — LATERAL BRACING IS REQUIRED. SEE TRUSS SPECIFICATION SHEET(S) FOR LATERAL BRACE LOCATIONS. VETERINARY CLINIC
FROM STORAGE BATTERIES, UNIT EQUIPMENT OR AN ON-—SITE.GENERATOR. THE INSTALLATION OF THE EMERGENCY POWER SYSTEM STEEL PANEL - ,
SHALL BE IN ACCORDANCE“WITH THE ICC ELECTRICAL CODE. 31 GENERAL NOTES AND BUILDING SPECIFICATIONS S MII%&VEE;SM:L\:[L)JFVA&[E;INGS PREMIUM PRO—RIB STEEL PANEL - Mllzaii[S;/IANUFACTURINGS PREMIUM PRO—SNAP STEEL PANEL LA CROSSE W|
ACCESSIBLE PARKING: — SHALL COMPLY WITH'ICC/ANSI A117.1 CHAPTER 5. 52 SITE PLAN .0157" MINIMUM THICKNESS BEFORE PAINTING .0157” MINIMUM THICKNESS BEFORE PAINTING :
S3 ELEVATIONS .018”" NOMINAL THICKNESS AFTER PAINTING .018”" NOMINAL THICKNESS AFTER PAINTING PROF. ENGINEER: XXXX
ACCESSIBLE ROUTE: — SHALL COMPLY WITH.ICC/ANSI A117.1 CHAPTER 4. S4 ELEVATIONS G100 GALVANIZED COATING PLUS ZINC PHOSPHATE G100 GALVANIZED COATING PLUS ZINC PHOSPHATE :
S5 50'x60' BUILDING FIRST FLOOR LAYOUT AND SCHEDULES LIFETIME PAINT WARRANTY LIFETIME PAINT WARRANTY PLAN DESIGNER: CHOUA KHA
ACCESSIBLE DOOR — SHALL COMPLY WITH ICC/ANSI A117.1 CHAPTER 3 SECTION 309. HANDLES, PULLS, LATCHES, AND OTHER OPERATING DEVICES ON S6 50'x110° BUILDING FIRST FLOOR LAYOUT AND SCHEDULES STRUCTURAL STRENGTH ASTM—A653 GRADE 80 STRUCTURAL STRENGTH ASTM—AB53 GRADE 80 DRAWN BY- KWK
HARDWARE: ACCESSIBLE DOORS SHALL HAVE A SHAPE THAT IS EASY TO GRASP WITH ONE HAND AND DOES NOT REQUIRE TIGHT GRASPING, TIGHT <7 =0'x60° BUILDING SECOND FLOOR LAYOUT AND SCHEDULES (FULL HARD STEEL) (FULL HARD STEEL) :
PINCHING, OR TWISTING OF THE WRIST TO OPERATE. LEVER OPERATED MECHANISMS, PUSH—TYPE MECHANISMS, AND U—SHAPED =5 = SUNDATION PLAN AND DETALS 82000 PS| MINIMUM TENSILE STRENGTH 82000 PS| MINIMUM TENSILE STRENGTH DATE: 4/25/2025
HANDLES ARE ACCEPTABLE DESIGNS. WHEN SLIDING DOORS ARE FULLY OPENED, OPERATING HARDWARE SHALL BE EXPOSED AND UND/
USABLE FROM BOTH SIDES. HARDWARE REQUIRED FOR ACCESSIBLE DOOR PASSAGE SHALL BE MOUNTED NO HIGHER THAN 48" (1220 S9 S0 x60 BUILDING FLOOR PLAN SCALE: AS NOTED
MM) ABOVE FINISHED FLOOR. THE THRESHOLD OF SERVICE DOORS MAY NOT EXCEED 1/2” ON EITHER SIDE OF THE DOOR WITH 1:2 S10 S0 x110° BUILDING FLOOR PLAN
SLOPE IF. GREATER THAN 1/4". S11 50'x60’ BUILDING ROOF FRAMING PLAN REVISIONS
S12 50'x110' BUILDING ROOF FRAMING PLAN
FIRE EXTINGUISHERS: — SHALL BE INSTALLED, PROVIDED, AND MAINTAINED AS SPECIFIED IN NFPA NO. 10 (BY OTHERS). S13 50'x60’ BUILDING SIDEWALL SECTION AND SECTION DETAILS NOIDATE DESCRIPTION BY
S14 50'x60' BUILDING SIDEWALL SECTION, SECTION DETAILS AND HEADER DETAIL
S15 50'x60' BUILDING ENDWALL SECTION AND SECTION DETAILS 1
516 COMMON ENDWALL SECTION AND SECTION DETAILS
S17 50'x110' BUILDING SIDEWALL SECTION AND SECTION DETAILS
518 50'x110' BUILDING SIDEWALL SECTION AND SECTION DETAILS )
$19 50'x110' BUILDING ENDWALL SECTION AND SECTION DETAILS
S20 SECOND FLOOR FRAMING PLAN AND DETAILS
S21 STAIR NOTES AND DETAILS SHEET TITLE:
S22 LARGE CANOPY FLOOR PLAN, ROOF FRAMING PLAN AND DETAILS
523 SMALL CANOPY FLOOR PLAN, ROOF FRAMING PLAN AND DETAILS GENERAL NOTES AND
S24 RESTROOM LAYOUT AND DETAILS BUILDING SPECIFICATIONS
S25 EGRESS PLAN
S26 STEEL APPLICATION DETAILS FILE NAME: BO7425W
SHEET NO.




. A <
e ___PROPERTY Ly ' PROPERTY
. / — \,*—;\E_ 18101 LINE 5.09’
a , R A T _
- | I S
« /[ [T—— — L B oA Ad R 44 £

A ‘\L‘d I < /.. . a
: I 7 Y ATV At At SR /T
: I ..A,f. A s el e [ R / \_PROPERTY

/ A T D B S I R AR A LINE 10.19’

A TR S B I B ST ST
CR e g [ T EXISTING
| .;-:' 4 ‘ < 4 " 74 ! . e A / SHED TO
, R Ay o AR R / REMAIN
o “ e af a0 a A “ <
/ a ”V.: e A 4 L ’ < 3 N /
R PN < 4’ <
v ..' C e a a a a4 <,
| 4 q” o ..7' ¢ < ~4 4 a /
| A A < i ’ 4.4 /
4. . g 4 ca. '
oAl e < ‘-
- —PROPOSED /
/
/

/ q'. A"AA ﬂ :"’4" . Nf.A 9 “ 8'x3'x8—6" ) .'.'
Lo e [ ooy T

g
Nl
N L4
.
g
3 /
> | ’
d :
Q- Lol
& .
]
I T
A 44 9
/ S PROPOSED /
P 50'x110°’x10°'-1 1/8"
/ a BUILDING /’
/%
IS

PROPOSED ., -/

8'x6'x8'—6" 2"
, CANOPY “ °
, Co

1 Ll
PROPOSED ——"
16'x6'x8'—6" ., \¢ .. &
CANOPY

PROPOSED
50'x60'x16'—0"

110'-0"

/ '::4
/ a
3/ 5
Sy ey
/ . .
g / e
~ R .
IS ‘PROPOSED.
& ACCESS -/ * /°
g " DRIVE/& 2 "
S PARKING - * [
Q AREA .- 7 TS
4': q A la
F
& .
= Y :
Q 5/ ;
/ o
/
/\ - A " /
o P ROPERTY LINE 124.340 - #
am! a e /
£/ ‘ /
S w /
< 5 / 44 4T~
! < 43 /
. /
/ | . ENGINEERING SERVICES
A 'A N . / 5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876-5555
/ S RS ’ J : FOR QUESTIONS PLEASE CONTACT BUILDING
SN /4 s ¥ NAME: LA CROSSE AREA VETERINARY CLINIC DESIGNER AT THE FOLLOWING:
/ EXISTING P / 5 ADDRESS:  XXXXX ENGINEERING@MIDWESTMANUF ACTURING.COM
ACCESS S N LAt CROSSE PROJECT TITLE:
* DRIV : . :
Lo AREA ' /: COUNTY: LA CROSSE LA CROSSE AREA
o , - ~
a0t TR EXISTING '8 VETERINARY CLINIC
A BUILDING / &
: L ; OWNER/CONTRACTOR SHALL PROVIDE A PLAT SURVEY WITH LA CROSSE, WI
< . / PROPOSED BUILDING LOCATIONS AND VERIFY ALL PROPOSED BUILDING
o, / SETBACKS AND LOCATION ON PROPERTY WITH LOCAL BUILDING OFFICIAL PROF. ENGINEER:  XXXX
2 A B AT TIME OF CONSTRUCTION AND MAKE ADJUSTMENTS ACCORDINGLY.
: LT : PLAN DESIGNER: CHOUA KHA
4n a4 . . . /
¢ ] 4 ) / DRAWN BY: KWK
. L y ' / DATE: 5/7/2025
a . .
P e / SCALE: AS NOTED
A B /
P <A / REVISIONS
< 4 g / t EV I
YA //55 c‘? INOIDATE DESCRIPTION BY
) s
—— 4 [&= 1
PROPERTY LINE 119.7r =~~~
N 2
SHEET TITLE:
SITE PLAN
FILE NAME: BO7425W|
SHEET NO.
SCALE: 1°=30' S /2 /




24" MANSARD BOXED 47 3/16” BOXED EAVE 24” /26" MANSARD
'_END GABLE /_ STEEL PANEL '_ BOXED END GABLE _'
I — /' |
CORNER TRIM CORNER TRIM
| | | | | |
— — CORNER TRIM —
— —] 60"x90” 60"x90” 60"x90" 60"x90" - — |
2 4" BOXED\ STEEL PANEL — — WINDOW WINDOW WINDOW WINDOW - — |
GABLE /_ = i
i ——
12" BOX A" ENDWALL FLASHING CORNER TRIM
INSIDE CORNER TRIM- |
. — GUTTER STEEL /PANEL
24 2 OXEP N d ||| | —12" BOXED EAVE
S : INS D'E C(I)RNER TRIM
| | | | I I I I INSI |
12" BOXED ENDWALL FLASHING o Eek PANEL 12" BOXED EAVE N ]
GABLE _J L ) 12 l_ 8
12" BOXED EAVE C— I
?TEEi. PAINEL | - INSIDE CORNER TRIM OPEN SIDEWALL L
> CORNER TRIM INSIDE CORNER TRIM — | | | | |
— ] 60"x90” 60"x90” 5 60"x90" 60"x90”
|| | || - || WINDOW WINDOW 5 WINDOW WINDOW
48"x48" 48"x48" 48"x48" 48"x48" 48"x48" 48"x48" | OPEN SIDEWALL |[ 48"x48" &
% MNI|I|)0W WINDOW MNI|I|)0W WINI|TOW WINI|TOW WINDOW :' H i \MNI|TOW ”ﬁ ¢
% IIIIIIIIII ...... IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII‘—|—|—|—|—|—|—=IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ...... IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ...... IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII‘—|—|—|—|—|—|—=IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ...... IIIIIIT“ZIII IIIII.IIII ...... ::
j T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1T T T T T T T T T 1T T ';f“ I | | I I AT T T | | | | | o ‘;1
"{: IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ‘:IIIIII IIIII'."IIIIIIIIIIIIIIIIIIII n_“ o
& ||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||\|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||'f':lll III_';-IIIIIIIIII \
iR IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII‘I\I\IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|III|III|IIIIIIIIIIIIIIIIIIIIIIIII IIIIII IIILI.IIIIIIIIIIIIIIIIIIII\ : [+ N
36"x80" 72"x80"
DWA \ SERVICE DOOR \ STEEL PANEL ENTRANCE DOOR = COLUMN (TYP.)
ENDWALL 36" TALL NOVA—BRIK WAINSCOT
J—TRIM & HEM TRIM
NORTHWEST ENDWALL
NOTE:
(0)—GUTTER DOWNSPOUTS REQUIRED..AT UPPER ROOF:
(3)—GUTTER DOWNSPOUTS<REQUIRED ATILOWER ROOF.
47 3/16" BOXED EAVE
PEAK HEIGHT
ELEV. 13310 3/8"
gg; %QEEQRD BOXED ~——CORNER TRIM
4” MANSA
,?ND %AEEERD BOXED L STEEL PANEL
24" BOXED EAVE I]I 1 |
ull ENGINEERING SERVICES
GUTTER_l CORNER TRIM 5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876-5555
ENDWALL FLASHING FOR QUESTIONS PLEASE CONTACT BUILDING
ILDI
@ EAVE REIGHT A bgﬁERHE%hQNG DESIGNER AT THE FOLLOWING:
ELEV. 119'—-9 BV 1191 3/F & ENGINEERING@MIDWESTMANUFACTURING.COM
’f“:///\\\i‘ﬁwgﬁl i _
CORNER TRIM 15 ”,:: — \\":Eﬁ.&h PROJECT TITLE:
— ~
24" BOXED GABLE N | 3 T ——1 24” BOXED EAVE
]
CORNER TRIM L,},/”/ GUTTER LA C RO S S E AREA
” /’///
24 oD Al _—F VETERINARY CLINIC
GUTTER — ﬂﬁ STEEL PANEL ELEV. 112'—4 3/4" &
STEEL PANEL NPYARL FEASHING I s 1|2 B C12 BOXE|D |E'|W|E = —— > 12" BOXED EAVE LA CROSSE, WI
12" AVE - 2 ——] - e PROF. ENGINEER:  XXXX
|2 | B|O>|<ED O &J—u’l’u— o8 INSIDE CORNER  TRIM STEEL PANEL [T T|~—corneErR TRIM
INSIDE| CORNER. TRIM IJ’ L~ ’EEDj:m ] PLAN DESIGNER: CHOUA KHA
DOWNSPOUT L ‘/ | ’; _—_—_—_—__— DRAWN BY: KWK
CORNER TRIM DATE: 4/25/2025
36"x36" ~
b B OPEN -
CORNER TRIM WINDOW ENDWALL [} SCALE: AS NOTED
Opl_!FN soewaLL | E DOWNSPOUT REVISIONS
@ FINISHED FLOOR ; § ||J—L N Vi /| FINISHED FLOOR & INojpATE DESCRIPTION BY
ELEV. 100'-0 SERsv?éESg; " N COLUMN (TYP.) / COLUMN 4 ELEV. 100’-0 1
J—TRIM & HEM TRIM
2
NORTHEAST ENDWALL
SHEET TITLE:
ELEVATIONS
FILE NAME: BO7425WI
SHEET NO.
SCALE: 3/16"=1"-0" S 3 /




24" /26" MANSARD 24" /26" MANSARD
'_BOXED END GABLE /_ STEEL PANEL BOXED END GABLE_'
V
vd
- CUSTOM ROOF
1 | STEP FLASHING
L
)’d
i L 21 13/16” BOXED EAVE
ditiniia nnm
WL /f
1T 17T 17T 1T 1 17T 1T 1T 1T 1 —=
CORNER TRIM CORNER TRIM A
1111 | I A I O I |
24" BOXED
" EAVE
CORNER TRIM
12" BOXED
GABLE
STEEL PANEL Iy
| | ~ 1
| | e
36"x38” | | 36"x36” 36"x36" / L 36"x36" 36"x36" / / CORNER TRIM
WINDOW WINDOW WINDOW 7/ 36 x48 WINDOW WINDOW 7/ 7/ ;
| | WINDOW H J OPEN v
- _ _ ENDWALL [/
N :
N ol
36"x80" 36"x80" 36"x80"
SERVICE DOOR A STEEL PANEL SERVICE DOOR SERVICE DOOR COLUMN —

SOUTHEAST SIDEWALL

NOTE:
(3)-GUTTER DOWNSPOUTS REQUIRED AT UPPER ROOF.
(3)-GUTTER DOWNSPOUTS REQUIRED AT LOWER ROOF.

47 3/16" BOXED EAVE

CORNER TRIM I.. 26" MANSARD BOXED

END GABLE

/

\I... . 12
~—
~— — I 3

~— 24" MANSARD BOXED
B END GABLE

\
[\ < . "
\\. 24" BOXED EAVE

\

LT o ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 878-5555
» ” —
60"x90

WINDOW =l FOR QUESTIONS PLEASE CONTACT BUILDING
el DESIGNER AT THE FOLLOWING:
=l I ENGINEERING@MIDWESTMANUFACTURING.COM
—<

//

1 CORNER TRIM PROJECT TITLE:

LA CROSSE AREA
- VETERINARY CLINIC
12" BOXED EAVE —] % STEEL PANEL

LA CROSSE, W
~_ ) | | | STEEL PANEL
[T TP PROF. ENGINEER: XXXX
CORNER TRIM ——={_L

PLAN DESIGNER: CHOUA KHA

et S0 00" DOWNSPOUT DRAWN BY: KWK
WINDOW

PN // DATE: 4/25/2025
ENDWALL CORNER TRIM SCALE: AS NOTED

REVISIONS

AN __ e [NolpATE DESCRIPTION BY
= coLUMN ECT

1

2
SOUTHWEST ENDWALL

SHEET TITLE:

ELEVATIONS

FILE NAME: BO7425WI
SHEET NO.

Sl S4




g)_ou 16’_2 1/2" 71_011 25,—6”
_—_= = =0=PEN=SID=EVIA=LL= E _— == ==
= LARGE CANOPY |
-é’" 72"x80" ||-§’
ENTRANCE DOOR
%" W/ EXIT LIGHT_ "%
z" \\\ ,’, IIz
E" \ /7 ||E
60"x90” 60"x90” ° ‘v’ © 60"x90” 60"x90”
WINDOW y
- e i
/|\
72"x80"
60"x90" ENTRANCE DOOR 7.0
7'-10 1/4" WINDOW \!/ EXIT LIGHI/
\\ //
N CAT
SEATING \ / WAITING
AREA v SEATING AREA
- AREA AN
EXIT \
\
\
AN
\\\—_
/
Y,
[Exam_Room ] /
"o 14-10 1/4”
14-0 / ﬂ
|
M — 7 "~ =~ 7] | { ————-
/ \ / / \ |
) - » y N , OUTLINE OF y N
50'-0 48'-5 1/4 S o S SECOND FLOOR S . | : g
2x6 8'-5" ﬁ
104" o] 10—4" PLUMBING
v
e o
//// \\\\ \\\\
// \\ \\ Z / p—
/ \ v ¢1'=51/2" on i \
] ! | N 1
\\
e Erorz || 7-3"
/ X ’ ” //
“— SERVICE DOOR 5 _g ' n” ’\_ ” ' A” ) ) z» )
L s E:\ SERCE DOOR 9'-0 9'—10 9'-0 7-3 5 /,6’ .
'Q /ZXB PLUMBING WALL 2-9 1/2" p I/ \\
| |
{ M /—2x6 PLUMBING WALL :
. \ - |
{
\ ' A”
\ _ S / .I. PHARMACY - —— N m 5'-0 |
\ MANAGER'S ~d|| L  das] 0 0o a1 T | |
N . ofice | | —7-—+ " ° W |
, . g,_2" 1 I
8-0 |
FOOD=1] 4 "
10 36"x80”
STORAGE 4-51/2" uP | SERVICE DOOR
W/ EXIT LIGHT
36"x36" | \|/
WINDOW I Eex
36"x36" 36"x36" |
WINDOW WINDOW /
)/
,/
7'=-3" 13-2" l—3'—| |=—————14'-5 1/2" 17'-4 7/16"
58'-7"
60,—0"
170'=0" TO _
END OF BUILDING
b ’
50'x60" BUILDING FIRST FLOOR LAYOUT
SCALE: 3/16"=1'-0"
ELOOR AREA QCCUPANTS QCCUPANTS QCCUPANTS
ROOM LABEL AREA OCCUPANTS ol LAVATORIES | PER_FIXTURE. | paunile
(S-Q'—H'l (IBC 1004) (TABLE 2902.1) CLOSETS (TABLE 2902.1) (TABLE 2902.1) EQUNTAINS
LOBBY 1175 100 12 25 0.48 40 0.300 100 0.12
RECEPTION AREA 107 300 2 25 0.08 40 0.050 100 0.02
RESTROOM 1 63 300 1 - -— - —-— - - o S
RESTROOM 2 74 100 1 — - - - - - (
EXAM ROOM 1 143 100 2 25 0.08 40 0.050 100 0.02 | r:’l|
EXAM ROOM 2 105 100 2 25 0.08 40 0.050 100 0.02 | |
EXAM ROOM 3 101 100 2 25 0.08 40 0.050 100 0.02 | |
EXAM ROOM 4 105 100 2 25 0.08 40 0.050 100 0.02 | |
EXAM ROOM 5 94 100 1 25 0.04 40 0.025 100 0.01 | | q
OFFICE 142 100 2 25 0.08 40 0.050 100 0.02 | | ]
FOOD STORAGE/PHARMACY 183 100 2 25 0.08 40 0.050 100 0.02 | |
[
TOTAL 2292 29 1.08 0.675 0.27 | |
| |
l Ll J \J \r

BUILDING KEY PLAN  _=N7"

NOT TO SCALE

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876—5555

FOR QUESTIONS PLEASE CONTACT BUILDING

DESIGNER AT THE FOLLOWING:

ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

50'x60° BUILDING FIRST

LA CROSSE, WI
PROF. ENGINEER:  XXXX
PLAN DESIGNER: ~ CHOUA KHA
DRAWN BY: KWK
DATE: 4/25/2025
SCALE: AS NOTED

REVISIONS

NO|DATE DESCRIPTION BY
1
2
SHEET TITLE:

FLOOR LAYOUT
AND SCHEDULES

FILE NAME:

BO/7425W

SHEET NO.

SO

/




BUILDING KEY PLAN

NOT TO SCALE

9'-0” 22'-9 1/2” 12'-0" 12'-0" 12'-2" 11'-9" 6'-0” 7-3" 14'-0"
= [=OFEN SIDEWALL
ﬁ SMALL CANOPY
gll Ilsg,g‘
2l _ 12
| e Il
| ’/ (3
I
1 jrring i I i I i I ] i [ — T I i} i
48"x48" 36°x80" 48"x48" 48"x48" 48"x48" 48"x48" 48"x48" |:'_I 48"x48" !|
WINDOW SERVICE DOOR WINDOW WINDOW WINDOW WINDOW WINDOW \\ WINDOW
W/ EXIT LIGHT \
5-10" . 6'—0" \\\\__
CAT EXAM o o R 1
room 1| 10°-1 L : :
\\\ Pl i i t\ -1 [i S];)oROAMGE 13'-0" u
\\\ // i i \ // —
/ i | MECHANICAL P / MECHANICAL] &> ~»
\ /] : : ROOM 1 5-07_ 7 RooM 2 | 90 48"x48"
| . | 2x6 PLUMBING EMPLOYEE WINDOW 20'-8 1/2"
F:] & - xS ; /7 WALL LOUNGE
\ 1 ” L
) \ 5_0" 11’4 1/2 = _@ -
/ ‘ [~ |
7 S - o A
J— TEREA - 2x6 PLUMBING REToRAGE 7= L D
Room 2 | 10°—1 5 ; —7 - 1 WALL ROOM w - -
! ! \ PLUMBING
o ! : \| 10'-10" WALL 7'=3"
=4’ —(Q" = ! ! l RESTROOM 3| —
1 1 7/
1 | /
! ! =~ DENTAL " " THERAPY / OPEN
| | : NEEER [ReE] re-r /2 s / soao e orovy
| | | k =_" 5'-0" 6'-5 1/2"— OPENING =i
o S | ) ; [
i -
I ~ =uw\ S
6'-0" :>_ 36')(80" N CiNOLPLY E 6» 0»
g | \al L. il 32701./2" SERVICE DOOR — Wit n 48'-7" 50'-0"
| 5-11/2" —~ 50" A e -I W/ EXIT LIGHT < 7 2
N / —5-3" ' 12'-0" (| 6'-1" = s
ﬁ . Icu N JANITOR'S / 10'—0" Il X
| \ ROOM - h
\ l 48x80 ‘=|-| L':;
\ 4 ' OPENNG | / =
\ \ | / OPEN
NG ! Y. / SIDEWALL
- 2x6 PLUMBING ' - -
WALL = 7'-0
8)-1” 8’-1” I
BEREAVEMENT -t [ 9'—1 1/2" /
! i 7y o / , )
48°x80" { _7
32°x80" DOUBLE “Sw_ __
POCKET SWINGNG — ™ L =
T T~ DOOR N\ DOORS *<( CAUNDRY 9'-0 /
:‘/ \ \ — = ‘
I \ ! a \\ \
I — 2x6 PLUMBING N @’Zﬁ_ LPLUMBING /! <> N\ @ /
| & CAGES <T> 1m0
” " /\n \ T
| gggl?EOT SURGERY 11’-10" @7 Sy \ \ \ \ \ u
| 9'—g” DOOR 10°'-10 2x6 PLUMBING ISOLATION
' I Y WALL L. Roou
| I 7'-10
36”x80" el
I 3«73&5 e / CAS ROOM 3'-9”
/
| \|/ / 36"x36" 36"x36" AND. PACK. AREA
| Texrf e WINDOW WINDOW. - 36"x80"
hi T z =T - ———w—————— i } e i i
36"x48" ] DooR
/’ WINDOW ‘\
// \\
,/ \\\
— 13-31/2" 14'-3" {1 8'-0" 16'—0" 11'-0" { 22'-8 1/2" 11'-10" I 10'=0" ———
109'-3 1/2”
110'-0"
170'-0" TO
END OF BUILDING y
b b i
50'x110° BUILDING FIRST FLOOR LAYOQUT
SCALE: 3/16"=1'-0"
AREA ELOOR AREA QCCUPANTS | wateRr | QCCUPANTS OCCUPANTS | pRINKING
ROOM LABEL QCCUPANTS LAVATORIES
(SQ. FT.) (IBC 1004) (TABLE 2902.1) CLOSETS (TABLE 2902.1) (TABLE 2902.1) EQUNTAINS
CAT EXAM ROOM 1 100 100 1 25 0.04 40 0.025 100 0.01
CAT EXAM ROOM 2 100 100 1 25 0.04 40 0.025 100 0.01
CAT WARD/FOOD PREP. 206 100 3 25 0.12 40 0.750 100 0.03
BEREAVEMENT ROOM 136 100 2 25 0.08 40 0.050 100 0.02
X—RAY ROOM 74 100 1 25 0.04 40 0.020 100 0.01
MEDICAL GAS ROOM 38 100 1 25 0.04 40 0.020 100 0.01
SURGERY 213 100 3 25 0.12 40 0.075 100 0.03
DENTAL ROOM 207 100 3 25 0.12 40 0.075 100 0.03
THERAPY ROOM 205 100 3 25 0.12 40 0.075 100 0.03 [’_ ——————————————————— —]
MECHANICAL ROOM 1 72 300 1 - - - - - - —
MECHANICAL ROOM 2 72 300 1 —— —— —— —— —— —— ] A |
RECEIVING /STORAGE ROOM 237 300 1 - —— - - - - | % |
JANITOR'S ROOM 30 300 1 —— —— —= — —= —— | |
STORAGE ROOM 107 300 1 - - - - - - | |
RESTROOM 3 63 300 1 —— - —— —— B o | 2
DOG KENNELS 390 100 4 25 0.16 40 0.100 100 0.04 | B |
LAUNDRY ROOM 117 100 2 25 0.08 40 0.050 100 0.02 c | |
EMPLOYEE LOUNGE 320 100 4 25 0.16 40 0.100 100 0.04 | |
ISOLATION ROOM 170 100 2 25 0.08 40 0.050 100 0.02 | f 1 X J‘ |
FREEZER 53 100 1 25 0.04 40 0.025 100 0.01 l L - |
TREATMENT/ICU /LAB/PREP. & PACK 1015 100 1 25 0.44 40 0.275 100 0.1 —_— _
TOTAL 3925 48 1.64 1.025 0.41

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 878-5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

50'x110" BUILDING FIRST
FLOOR LAYOUT
AND SCHEDULES

LA CROSSE, W
PROF. ENGINEER:  XXXX
PLAN DESIGNER:  CHOUA KHA
DRAWN BY: KWK
DATE: 4/25 /2025
SCALE: AS NOTED
REVISIONS
[NolpATE DESCRIPTION BY
1
2
SHEET TITLE:

FILE NAME:

BO7425W|

SHEET NO.

56

/




OUTLINE OF LARGE CANOPY
& OVERHANG BELOW

60°x90”
WINDOW

OUTLINE OF BUILDING
& OVERHANG BELOW

60"x90"
WINDOW
________ ]
|
23'-0 221 3/4” :
|
|
H |
|
|
|
|
| OUTLINE OF SECOND FLOOR I 14,_9 3/4"
= | / ‘
O
? ” I
50'—0 y. I _%
//
6'—11 1/2" [OFFIcE 208 B —0”
[GFFICE 201] 8-0
=] , =
/
— 38'—5 1/4”
— |
/4 \
T "@ \ _|=’
19-4 = \ /
/
/
, ” =] [ ] —] )
8-31/2 | \ , —
/ \ /
/ \ /
/ \ /
// \\\ -///
D@ : 12'=11 1/2"
8'-0"
=l
\
S~o R
7'—-8" 6’'—8" ATTIC_STORAGE] [ I
| I I »
Vel It Il 4-51/2
| I I A |
111
n i i I i i i ) ——
~——8-0 8'-0" 8'-0" 8'—0"——= 4-5 7/16" <—6"—6 3/4"—=
—| 5-6 13/16" |=— -7 =11 1/2"—]
58'—7
60'-0
b b
50'x60 BUILDING SECOND FLOOR LAYOUT
SCALE: 3/16"=1'-0"
AREA | ELOOR AREA OCCUPANTS | water | QCCUPANTS OCCUPANTS | pRINKING
ROOM LABEL OCCUPANTS LAVATORIES
(SQ'—H‘)- (IBC 1004) (TABLE 2902.1) CLOSETS (TABLE 2902.1) (TABLE 2902.1) EQUNTAINS
OFFICE 21 130 100 2 25 0.08 40 0.050 100 0.02
OFFICE 22 230 100 3 25 0.12 40 0.075 100 0.03
OFFICE 23 69 100 1 25 0.04 40 0.025 100 0.01 (’— —————————— -
OFFICE 24 69 100 1 25 0.04 40 0.025 100 0.01 7 I.-J]
OFFICE 25 69 100 1 25 0.04 40 0.025 100 0.01 | Y U
OFFICE 26 69 100 1 25 0.04 40 0.025 100 0.01 | |
COMMON AREA 437 100 5 25 0.20 40 0.125 100 0.05 | |
ATTIC STORAGE 296 300 1 — —— —— — — — | |
RESTROOM 4 71 300 1 — —— —— — — — | | 3
| |
TOTAL 2260 16 0.56 0.350 0.14 | |
(=
| |
| |
L Y o

BUILDING KEY PLAN

NOT TO SCALE

%
V‘N

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876—5555

FOR QUESTIONS PLEASE CONTACT BUILDING

DESIGNER AT THE FOLLOWING:

ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI
PROF. ENGINEER:  XXXX
PLAN DESIGNER: ~ CHOUA KHA
DRAWN BY: KWK
DATE: 4/25/2025
SCALE: AS NOTED

REVISIONS

NO|DATE DESCRIPTION BY
1
2
SHEET TITLE:

50'x60° BUILDING SECOND

FLOOR LAYOUT
AND SCHEDULES

FILE NAME:

BO/7425W

SHEET NO.

57

/




170'-0"
60'—0"
22'-0" 16'—0" 22'-0" 7'-2" g'-3" 94'-7"
(E (E
\8/ \8/
C
— | | 6'—0" | | 6'-0" >
| | | |
] ] ] ]
e B —l
| |
| | e |
| A | |~—g'—0" B |
| \8/ | \8/ |
| | | 21'-0"
| | |
| | |
| | | 3-0"
| | |
| | |
| | |
| | NS
bl A /a2 | i

| D F | L L EN alg sgion
| & & T T
| | i
| | |
| | :
| |
| | /DN |
| | & : v
| |
| | | 1
| | | 21 -0
' | '
| 8 | 8 8 |
| | |
| | |
- - - _______ 1 JdJFr—]-——_______ Ay gl W  _ _ - | o ___ a

< <« -

60'—0" 8'-0" 102'-0"

—— 5% GRADE SLOPE AWAY FROM
BUILDING, 2% GRADE SLOPE @
IMPERVIOUS SURFACE. CONCRETE FLOOR
(MATERIALS BY OTHERS)

FLOOR REINFORCEMENT —

L AT, 6 MIL (0.006 INCH) POLYETHYLENE
S X A WITH JOINTS LAPPED NOT LESS
e . .. e - THAN 6 INCHES

VR (R=10) RIGID PERIMETER INSULATION
N . (REQUIRED IN HEATED BUILDING)

CoAy
'S

#4 REBAR (SEE SCHEDULE)

WIDTH

AAYBY VDY EY HAUNCHED FOOTING @ EXTERIOR DETAIL
\B A8 ABAB8 A8/ NOT T0 SCALE

CONCRETE. FLOOR/APRON FLOOR REINFORCEMENT CONCRETE FLOOR
(MATERIALS BY. OTHERS) (MATERIALS BY OTHERS)
7 e .1 . - N
%---f--;---ff-- —— - A eSS FLOOR
. 4 i _ P L o L . 4, a- ‘a . . . .
a0 0 MR % % e S oA S S
M= = EEE X S SRLSSSTTTXR,
TR IES] v ot v o KKRRRRRRRRRRRIRKK
il sl==N L
ST o VA : 6 MIL (0.006 INCH) POLYETHYLENE
THICKNESS 18] -« 0 ¢ - & WITH JOINTS LAPPED NOT LESS
e, THAN 6 INCHES
L @
< o, (R—10) RIGID PERIMETER INSULATION
' (REQUIRED IN HEATED BUILDING)
#4 REBAR (SEE SCHEDULE)
WIDTH

A\ HAUNCHED FOOTING @ COMMON WALL DETAIL
WNOT TO SCALE

FOUNDATION PLAN

SCALE: 1/8"=1'-0"

HAUNCHED FOOTING SCHEDULE

FOOTING
LOCATION FOOTING DESCRIPTION
THICKNESS | WIDTH QUANTITY OF REBAR

A 14 22" (4) #4 @ 18" 0.C. MAX.
B 147 20" (3) #4 © 18" 0.C. MAX.
C 18 24" (5) #4 © 18" 0.C. MAX.
D 147 14" (2) #4 © 18" 0.C. MAX.
E 147 14" (2) #4 © 18" 0.C. MAX.
F 14 14" (2) #4 © 18" 0.C. MAX.

CONCRETE NOTES

—ALL CONCRETE SHALL HAVE A MINIMUM COMPRESSIVE STRENGTH OF
4000 PSI AT 28 DAYS.

—ALL #4 REBAR TO BE DEFORMED GRADE 60 OR BETTER AND HAVE A MINIMUM
SPLICE OVERLAP OF 29”.

—FLOOR REINFORCEMENT SHALL BE EITHER 6x6 W1.4xW1.4 CONCRETE
WIRE MESH OR #4 DEFORMED REBAR AT 18" O.C. EACH WAY.

—ALL REBAR WITH CONCRETE POURED AGAINST SOIL SHALL HAVE A 3" CLEAR COVER.
—BOTTOM OF CONCRETE FOOTING TO BE A MINIMUM OF 14" BELOW FINISHED GRADE.

—PERIMETER INSULATION SHALL BE INSTALLED W/ A RIGID, OPAQUE, &

WEATHER—RESISTANT PROTECTIVE COVERING TO PREVENT THE DEGRADATION OF THE
INSULATION'S THERMAL PERFORMANCE. THE PROTECTIVE COVERING SHALL COVER THE
EXPOSED AREA OF THE PERIMETER INSULATION AND EXTEND A MIN. OF 6" BELOW

GRADE. VERIFY TO THE BUILDING INSPECTOR THAT THIS IS PROPERLY PROVIDED.

—ALL HORIZONTAL PERIMETER INSULATION DIRECTLY BELOW HAUNCHED FOOTING TO
BE MINIMUM 40 PSI XPS. 25 PSI XPS FOAM MAY BE USED IN ALL OTHER LOCATIONS.

—FOR SOIL INFORMATION REQUIREMENTS SEE GENERAL NOTES ON SHEET S1.

ENGINEERING SERVICES

6311 KANE RD. EAU CLAIRE, WI 54703 (715) 878-5555

DESIGNER AT THE FOLLOWING:

FOR QUESTIONS PLEASE CONTACT BUILDING
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE, WI

LA CROSSE AREA
VETERINARY CLINIC

PROF. ENGINEER: XXXX

PLAN DESIGNER: CHOUA KHA

DRAWN BY: KWK
DATE: 4/25 /2025

SCALE: AS NOTED

REVISIONS

NolpaTE DESCRIPTION BY
1

2

SHEET TITLE:

FOUNDATION PLAN
AND DETAILS

FILE NAME: BO7425WI

SHEET NO.

/




PRO—ANCHOR (PA) BRACKET DESIGNATION

|<-5'=10 1/2" =

11/2"
7'-10 1/2"
] @)
7-0"
A =
7-0"

&

501_0" 6)_ On

60,—0"

170'-0" TO

END OF BUILDING

|—LARGE CANOPY (SEE SHEET S23)

[T e — W
©), ©),
6'-0 1/2"
@ - B
\‘e’—w"
\
H__
/,'2’—9”
B
4'—6"

| 8'-0" |<-5'-10 1/2%fle—1 1/2"

6'—4 1/4” SHEAR BRACE 5'—8”
1 . [® ®f [
//— ] ”»
// SHEAR BRACE 5'—0
]
7'-7 3/4" @
[
I
i 1 11'=0 1/2”
H+————— CORNER BRACE
7'=10 1/2" |
! — SHEAR BRACE
|
|
& & ) © 3 (3 (3 &)
“ *- l l 5 i . ________ —
1 IFE
“ CORNER BRACE J
11/2" | < //
Lsn_g 3/4n 8,—0” ! 8, O" ! 8,—0” [ 8,—0” { 8,—0” 8,—0” ! 5!_11 1/4” 1 1/2,,
NOTE:

NOTE:.

ALL DIMENSIONS ARE TO CENTERLINE OF
COLUMNS EXCEPT FOR CORNERS AND OVERHEAD
DOOR JAMBS OR UNLESS NOTED OTHERWISE.

50'x60° BUILDING FLOOR PLAN

SHEAR BRACE SHALL BE 5/8” 0.S.B. SHEATHING EXTENDING FULL HEIGHT FROM
THE FINISHED FLOOR OR GRADE TO THE TOP OF THE UPPER MOST FRAMING
MEMBER, |.E. SOFFIT NAILER OR TOP CHORD. SHEAR BRACE SHALL BE SECURED
TO ALL FRAMING MEMBERS WITH 6d COMMON NAILS AT 6” O.C. SHEAR BRACE
SHALL BE BLOCKED AT ALL PANEL EDGES INCLUDING AT COLUMNS.

PAB0 = 6" UNIVERSAL BRACKET SCALE: 3/16"=1'-0"

PABO = 8  UNIVERSAL BRACKET

PABS = S—PLY 2x6 COLUMN BRACKET CORNER BRACE SHALL BE A 246 EXTENDING FROM THE GRADEBOARD AT THE

PA64 = 4—PLY 2x6_COLUMN BRACKET INTERIOR COLUMN TO THE TOP OF THE CORNER COLUMN. CORNER BRACE SHALL

BE PLACED ON THE INSIDE FACE OF FRAMING MEMBERS. CORNER BRACE SHALL
PA83 = 3—PLY 2x8 COLUMN BRACKET BE SECURED TO THE GRADEBOARD WITH (3)—10d RINGSHANK NAILS AND TO THE
PAB4 — 4—PLY 2x8 COLUMN BRACKET SOFFIT NAILER/ENDFRAME BOTTOM CHORD WITH (3)—10d RINGSHANK NAILS. EACH
BRACE TO GIRT LOCATION SHALL BE SECURED WITH (1)-10d RINGSHANK NAIL.
COLUMN & BRACKET SCHEDULE

 SOLUMN COLUMN DESCRIPTION EMBEDMENT | o ks FOOTING DESCRIPTION BRACKET DESCRIPTION NO S ST BRACKET TO COLUMN BRACKET TO CONCRETE (PER COLUMN)
S1 3-PLY (32")—2x8 2400f MSR_SYP_LAMINATED COLUMN 0-0" 6 HAUNCHED FOOTING (SEE SHEET S3) | CUSTOM BRACKETS (SEE DETAIL F/6) 1 (9)—1/2"9x6" (4)—5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
S2 3—PLY (22')=2x6. 2400f MSR_SYP LAMINATED COLUMN 0-0" 2 HAUNCHED FOOTING (SEE SHEET S3) PA63 1 (2)—1/279x6" (4) 1/4°x3_WOOD_SCREWS (2)-5/879x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
S3 3—PLY (22')—2x6_2400f MSR_SYP_LAMINATED COLUMN 0-0" 7 HAUNCHED FOOTING (SEE SHEET S3) PA63 1 (2)—1/2"9x6" (4) 1/4°x3_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
El 3—PLY (22')—2x8_2400f MSR_SYP_LAMINATED COLUMN 0-0" 1 HAUNCHED FOOTING (SEE _SHEET S3) PA8O 1 (2)—1/2"9x6" (4) 1/4°x3_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E2 3—PLY (22')—2x6 2400f MSR_SYP_LAMINATED COLUMN 0-0" 1 HAUNCHED FOOTING (SEE SHEET S3) PA63 1 (2)—1/2"9x6" (4) 1/4°x3_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E3 3—PLY (24')—2x6_2400f MSR_SYP_LAMINATED COLUMN 0-0" 3 HAUNCHED FOOTING (SEE SHEET S3) PA63 1 (2)—1/2"9x6" (4) 1/4°x3_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E4 3—PLY (26')—2x6 2400f MSR_SYP_LAMINATED COLUMN 0-0" 2 HAUNCHED FOOTING (SEE SHEET S3) PA63 1 (2)—1/2"9x6" (4) 1/4°x3_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E5 4—PLY (28')—2x6,2400f MSR_SYP_LAMINATED COLUMN 0-0" 1 HAUNCHED FOOTING (SEE SHEET S3) PAG4 1 (2)-1/2"9x7 1/2° BOLTS, (4) 1/4'x3"_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E6 4—PLY (30')—2x6 2400f MSR_SYP_LAMINATED COLUMN 0-0" 1 HAUNCHED FOOTING (SEE SHEET S3) PAG4 1 (2)-1/2"9x7 1/2" BOLTS, (4) 1/4'x3"_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E7 5—PLY (32)=2x6 2400f MSR_SYP_LAMINATED COLUMN 0-0" 1 HAUNCHED FOOTING (SEE SHEET S3) PA60 2 (2)—1/2"9x9”_BOLTS, (4) 1/4°x3"_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E8 3—PLY.(34)—2x8 2400f MSR_SYP_LAMINATED COLUMN 0-0" 2 HAUNCHED FOOTING (SEE SHEET S3) PA63 1 (2)-1/2"9x6"_BOLTS, (4) 1/4'x3"_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E8* | 3—PLY (34)—2x8 2400f MSR_SYP_LAMINATED COLUMN 0-0" 2 HAUNCHED FOOTING (SEE SHEET S3) PA60 1 (2)-1/2"9x6"_BOLTS, (4) 1/4'x3"_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E9 3—PLY (28')—2x6 2400f MSR_SYP_LAMINATED COLUMN 0-0" 1 HAUNCHED FOOTING (SEE SHEET S3) PA63 1 (2)-1/2"9x6"_BOLTS, (4) 1/4'x3"_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E10__ | 3—PLY (30')—2x6_2400f MSR_SYP_LAMINATED COLUMN 0-0" 2 HAUNCHED FOOTING (SEE SHEET S3) PA63 1 (2)-1/2"9x6"_BOLTS, (4) 1/4'x3"_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
E11 4—PLY (32')—2x6_2400f MSR_SYP_LAMINATED COLUMN 0-0" 1 HAUNCHED FOOTING (SEE SHEET S3) PAG4 1 (2)—1/2"9x7 1/2" BOLTS, (4) 1/4'x3"_WOOD_SCREWS (2)-5/8"9x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT

.
11/2" 3" —} 11/2"
11/16"8 (TYP.)
11/4" | 11/4"
6 1/4” O ___4* 6 1/4"
3" 3"
I ! I L H ! H H ! H ‘
| | |
_ A | ]
FRONT VIEW
| |
| SIDE VIEW
L,
O DIMEI\.ISIONS ARE TO CENTER OF HOLES.
g”
h:
NOTE:
USE 1/4” A36 STEEL. BREAK SINGLE
PIECE OF STEEL AT 90° OR WELD TWO
PIECES OF STEEL WITH 3/16” FILLET
O\ 2" WELDS, FULL LENGTH, E70
N * ELECTRODES. MAKE 4 BRACKETS.
‘ \11/16"05 (TYP.)
11/2" f—3"—] 11/2"
&
TOP VIEW
/N CUSTOM BRACKET DETAIL (S3 COLUMNS)
W SCALE: 3"=1'-0"
N/ = ENGINEERING SERVICES
6311 KANE RD. EAU CLAIRE, WI 54703 (715) 876-5555
§ FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@OMIDWESTMANUFACTURING.COM
R “JW PROJECT TITLE:
L LA CROSSE AREA
: VETERINARY CLINIC
| 3 LA CROSSE, W
A | PROF. ENGINEER:  XXXX
| PLAN DESIGNER: CHOUA KHA
L7 l \J \r DRAWN BY KWK
- HJ DATE: 4/25/2025
— SCALE: AS NOTED
BUILDING KEY PLAN  _=N y—
NOT TO SCALE
NO|DATE DESCRIPTION BY
1
2
SHEET TITLE:
50’x60" BUILDING
FLOOR PLAN
FILE NAME: BO7425W
SHEET NO.

59

/




170’-0" TO

SMALL CANOPY (SEE SHEET S24)

END OF BUILDING

t7 110’-0”
6,—0" 1 F 8'—0” 1 ﬁ]‘: 8'—0” 1 8'—0” 1 8'—0” 1 8'—0” 1 8'—0” 1 8'—0” 1 8,—0” 1 8,—0” 1 8) On 1 8) On 1 8,—0" 1 7'_10 1/2" —— 1 1/2"
I |
I e | —>
I / |
|’ I
T T % "_"_i il "_"_i il "’_"_‘- il "_"_‘- ﬁ T
@),
| 6'—10.1/2"
CORNER BRACE CORNER BRACE ———H
|
A
N &)
N\
\
\
\
7'-0”
/
//
A
7)_0"
(G B m—
I
.-
/{l 8, 0" 501 O”
) _ _
|
.- o I
= I SMALL CANOPY
@ 1 0 (SEE SHEET S24)
7,_0"
=
t A\
14/
A
/AN
pVi/d v
H 7’_0"
E &)
|
CORNER BRACE CORNER BRACE —H
| 6'-10 1/2"
€],
1 S i1 7 1 1 I I I I 1 S =
/ \ \
/ \ \
// \ J \\ \\
_’ S S
| 6,—0” { 8,—0” { 8,—0” { 8,—0” { 8,—0” { 8,—0” { 8,—0” { 8,—0” { 8,—0” { 8,—0” { 8,—0” { 8) On 8,—0” | 7'_10 1/2" i 1 1/2"
SHEAR BRACE SHALL BE 5/8” 0.S.B. SHEATHING EXTENDING FULL HEIGHT FROM
NOTE: THE FINISHED FLOOR OR GRADE TO THE TOP OF THE UPPER MOST FRAMING
ALL DIMENSIONS ARE TO CENTERLINE OF MEMBER, I.E. SOFFIT NAILER OR TOP CHORD. SHEAR BRACE SHALL BE SECURED
PRO—ANCHOR (PA) BRACKET DESIGNATION COLUMNS EXCEPT FOR CORNERS AND OVERHEAD , , TO ALL FRAMING MEMBERS WITH 6d COMMON NAILS AT 6” 0.C. SHEAR BRACE
DOOR JAMBS OR UNLESS NOTED OTHERWISE. 50 x110 BUILDING FLOOR PLAN SHALL BE BLOCKED AT ALL PANEL EDGES INCLUDING AT COLUMNS.
PA60 = 6° UNIVERSAL BRACKET SCALE: 3/16"=1"-0"
PAB0 = 8 UNIVERSAL BRACKET [/— ___________________ .
NOTE:_ — ]
PABS = 3—-PLY 2x6 COLUMN BRACKET CORNER BRACE SHALL BE A 2x6 EXTENDING FROM THE GRADEBOARD AT THE [ ]| %% |
PA64 = 4—PLY 2x6 COLUMN BRACKET INTERIOR COLUMN TO THE TOP OF THE CORNER COLUMN. CORNER BRACE SHALL |
BE PLACED ON THE INSIDE FACE OF FRAMING MEMBERS. CORNER BRACE SHALL |
PA83 = 3—PLY 2x8 COLUMN BRACKET BE SECURED TO THE GRADEBOARD WITH (3)-10d RINGSHANK NAILS AND TO THE | |
PAB4 = 4—PLY 2x8 COLUMN BRACKET SOFFIT NAILER/ENDFRAME BOTTOM CHORD WITH (3)—10d RINGSHANK NAILS. EACH | |
BRACE TO GIRT LOCATION SHALL BE SECURED WITH (1)—10d RINGSHANK NAIL. | 3 |
| B |
e | |
COLUMN & BRACKET SCHEDULE | |
|
COLUMN 4 OF BRACKET NO. OF BRACKETS L/ \J (< |
LOCATION COLUMN DESCRIPTION EMBEDMENT | ol Uiins FOOTING DESCRIPTION DESCRIPTION PER COLUMN BRACKET TO COLUMN BRACKET TO CONCRETE (PER COLUMN) l |
S4 3—PLY (12’)—2x6 #1 SYP LAMINATED COLUMN 0-0" 6 HAUNCHED FOOTING (SEE SHEET S3) PAB3 1 (2)—1/2"%x7 1/2" BOLTS, (4) 1/4"x3" WOOD SCREWS (2)—5/8"8x6" TITEN HD SCREW ANCHORS, 5 3/4" MIN. EMBEDMENT N —
E12 3—PLY (12°)—2x6 #1 SYP.LAMINATED COLUMN 0—-0" 2 HAUNCHED FOOTING (SEE SHEET S3) PABO 1 (2)—1/2"%x7 1/2" BOLTS, (4) 1/4"x3" WOOD SCREWS (2)—5/8"8x6" TITEN HD SCREW ANCHORS, 5 3/4" MIN. EMBEDMENT BUILDING KEY PLAN y
E13 3—PLY (14)—2x6 #1 SYP LAMINATED COLUMN 0-0" 2 HAUNCHED FOOTING (SEE SHEET S3) PAB3 1 (2)—1/2"8x7 1/2" BOLTS, (4) 1/4"x3" WOOD SCREWS (2)—5/8"8x6" TITEN HD SCREW ANCHORS, 5 3/4" MIN. EMBEDMENT NOT TO SCALE
E14 3—PLY (16')—2x6 #1 SYP LAMINATED COLUMN 0-0" 2 HAUNCHED FOOTING (SEE SHEET S3) PAB3 1 (2)—1/2"9x7 1/2" BOLTS, (4) 1/4"x3" WOOD SCREWS (2)—5/8"8x6" TITEN HD SCREW ANCHORS, 5 3/4" MIN. EMBEDMENT
E15 3-PLY (18')—2x6 #1 SYP LAMINATED COLUMN 0-0" 2 HAUNCHED FOOTING (SEE SHEET S3) PAB3 1 (2)—1/2"9x7 1/2" BOLTS, (4) 1/4"x3" WOOD SCREWS (2)—5/8"8x6" TITEN HD SCREW ANCHORS, 5 3/4" MIN. EMBEDMENT

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876—5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER: XXXX
PLAN DESIGNER: CHOUA KHA
DRAWN BY: KWK
DATE: 4/25/2025
SCALE: AS NOTED
REVISIONS
NO|DATE DESCRIPTION BY
1
2
SHEET TITLE:
50’x110° BUILDING
FLOOR PLAN
FILE NAME: BO7425WiI
SHEET NO.

S10




OUTLINE OF LARGE CANOPY
& OVERHANG BELOW
(SEE SHEET S23)

- - - - T
|| | |
| | |
: : : : 47 3/16" BOXED EAVE |— ——————
| HE1 |
. i
/ \
/ \
i / i i i i \\ i
Il ;o il 1l o\ 1l
/ \
/ \
= / \
Il // Il il I 1l 1l \\ 1l
ll / ll il I Il Il \ Il
/ \ =
18’-0" ON—%DGE PURLIN ‘ 18'—0” ON—EDGE PURLIN ‘ 18'-0" ON—ﬁDGE PURLIN
10’-0" ‘ / \ ‘ 10'-0"
ON—-EDGE / \ ON—EDGE
N-EDCE 1 / Il il 1l 1l \ Il ON"EDG
= ll / ll il Il Il \ Il
/ \ =
/ \
/ \
/ \
ll // ll il I Il Il \\ Il
Ly Il / Il il I 1l 1l \ 1l C
< / \ 2
o = / \ o
() / \ ()
@ n o/ ll i i i \ ol 2
o i ’\ i I DRAFT STOP —=, I /\ I (o’ B
x / \ ©
5 “/ WIND BRACE m m WIND BRACE \\~ 5
Z Z
s B 8l =
J //m Il ||| I I i |||\\ J
S ll il I Il Il [N
/ \
/ \
- / \ .
/o l Il i i o\
/ ACCESS PANEL 1 \
/ \
/ r=— \ =
/ ||| . \
/ i l Il i ] ] \
/ ll ll il i ] Il \
=/ I \
/ \
/ \
/ \
/ \
/ i l Il 1l 1l 1l
/ ll ll il il il il
/ | | | | | | \
/ \
21 13/16" BOXED EAVE

L50'—0" 3/12 PITCH CANTILEVER
MONO ENDFRAME (47 3/16" HEEL)

L2—F’LY 50'-0" 3/12 PITCH
CANTILEVER MONO TRUSSES
@ 8 0.C. (47 3/16” HEEL)

40'x60° BUILDING ROOF FRAMING PLAN

SCALE: 3/16"=1'-0"

NOTE:

ATTIC AREA SHALL BE COMPARTMENTALIZED INTO  AREAS NOT
GREATER THAN 3000 SQ. FT. BY FIRE STOPPING AS SPECIFIED
IN IBC 718.4. EVERY ATTIC COMPARTMENT SHALL BE PROVIDED
WITH A 20"x30” ACCESS PANEL FROM LOWER AREA OR ACCESS
PANELS IN COMPARTMENT WALLS<SHALL BE PROVIDED WITH
SELF CLOSING DEVICES. (INCLUDES OVERHANGS)

TRUSS BOTTOM \/\ TRUSS BOTTOM
/CH ORD CHORD \

R.O.
FRAMING R.O.
NAILER
\ /|
\ 7/
\_FRAMING—
NAILER

THE PURLIN OVERLAPS SHALL BE
SECURED W/(3)—10d RINGSHANK

NAILS IN THE OUTERMOST 6" OF
THE PURLIN LAP, EACH END.

=

\/\

ATTIC ACCESS FRAMING

SCALE: 1/2"=1"-0"

HEADER SCHEDULE
HEADER REFERENCE
Prrciay HEADER DESCRIPTION DETAIL(S)
HE1 ___ | 3-PLY 2x12 2400f MSR SYP (2.0E) HEADER A/8
. TRUSS
STUB COLUMN SCHEDULE /
ROOF PURLIN X
COLUMN NUMBER OF
LOCATION COLUMN DESCRIPTION COLUMNS \ |
s I — | I
STI___| 4—PLY 2x8—(6)) STUB _COLUMN (CUT TO FIT) i |
12"— 12—
Ic!
|Q|

NOTE:

WIND BRACE SHALL BE A 2x4 PLACED ON THE UNDERSIDE
OF THE ROOF PURLINS. WIND BRACE SHALL BE SECURED
W/(2)-30d RINGSHANK NAILS AT EACH END AND W/(1)-10d
RINGSHANK NAIL AT EACH BRACE TO PURLIN LOCATION.

NOTE:
LATERAL BRACING IS REQUIRED. SEE TRUSS SPECIFICATION
SHEET(S) FOR LATERAL BRACE LOCATIONS.

NOTE:

2x4 ROOF PURLINS (ON—EDGE) AT 24" O.C. ROOF
PURLINS ARE TO BE SECURED TO THE TRUSS W/(1)-60d
RINGSHANK NAIL AT EACH PURLIN TO TRUSS LOCATION.

/A PURLIN OVERLAP DETAIL

\J1/ SCALE: 1"=1"-0"

LSO’—O" 3/12 PITCH CANTILEVER
MONO ENDFRAME (47 3/16" HEEL)

FINISHED SIDE

uiy

CUSTOM ROOF STEP FLASHING
DETAIL (TRIM DIMENSIONS)

SCALE: 3"=1"-0"

STEEL PANEL

2x4 ROOF PURLIN 1
2x4 ROOF PURLIN I—

CUSTOM ROOF STEP FLASHING "V/

STEEL PANEL 12

2x4 ROOF PURLIN

\\ax/
\
\

TRUSS TOP CHORD

TRUSS TOP CHORD

8\ ROOF STEP DOWN DETAIL
\J1/J SCALE: 1 1/2=T-0"

AN ]

BUILDING KEY PLAN

\J \r

%
V‘N

NOT TO SCALE

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876—5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER: XXXX

PLAN DESIGNER: ~ CHOUA KHA

DRAWN BY: KWK

DATE: 4/25/2025

SCALE: AS NOTED
REVISIONS

NO|DATE DESCRIPTION BY

1

2

SHEET TITLE:

50'x60" BUILDING
ROOF FRAMING PLAN

FILE NAME: BO7425WiI

SHEET NO.

57117

/




/B PURLIN

OVERLAP DETAIL

\J1/ SCALE: 1"=1"-0

NOT TO SCALE

BUILDING KEY PLAN

110’-0"
OUTLINE OF SMALL CANOPY
& OVERHANG BELOW
(SEE SHEET S24)
" 11
| | |
| | |
. | | | |
| | | : : : 24" BOXED EAVE
| — : 1 | | | | | 1 1 ) | 1
| / \ / \
I /0 I I \ I I I /1 I RN I
| I // I I I ” \\ I I I // I ” I I \\ I
|
/ \ / \
| / \ / \
| I / I I y DRAFT STOP ” \ I I I / I ” DRAFT STOP I \ I
= | I // I I I \\ I I I // I I I \\ I
| / \ / \ o
| I // I I I \ I I I Y, I I [ \ [
| I / I I I N I oy I I I N
a | y \ J/ \
/ /
\
| [ // [ [ [ /\N [ }f\ [ [ I WIND BRACE N
| I, I I I ” WIND BRACE n\ I /1 WIND BRACE ! ” I I I\
| WIND BRACE AN ,/ N =
| // \ / \
= I I I I ” I I / I I ” I I I \
| /o I I I I I / I I I I I \
| 16'—0" ON—EDGE DRIFT PURLIN | I I I J/ " i " \,
/ | 18'—0" ON—EDGE PURLIN 18'—0" ON—EDGE PURLIN 18'—0" ON—EDGE PURLIN 18'—0" ON—EDGE PURLIN 18'—0" ON—EDGE PURLIN n 20’=0" ON—EDGE PURLIN
" - = = = = — Y
16'—=0" ON—EDGE DRIFT PURLIN [ [ [ \ [ / [ [ [ [ [ \
= |/ I I I I I \ I / I I I I I — — :I
n on . / —
A 20”x30” MIN. ATTIC y, H || N8
| ACCESS PANEL / \ Y |
/ I I I I I N/ I I I [ 1l \ o '
/| = I I I ” I n/ I I ” I Il I \ I S |
L S - - —f— — - - - - RDGELNE — —f— — ————— - — - < — - SR 50'—0"
| I I 20"x30" MIN. ATTIC <11
N I I I I I I\ I I I ACCESS PANEL I /1 @ |
\ | I I I I I TN I I I I [ / 5 |
\ r——A / N
= |
\ N R oA j
I\ [ [ [ [ [ / [ \\ [ [ [ I I / |
|\ I I I I I // I 50"x30" MIN. ATTIC I I I i //
| \\ / [ACCESS PANEL /
\ 1 \ I /
| AN I I I I o \\ I 1 1 I I //
= | \\ I I I I ” I nooL——- \ I I " I I I /
| \ // \\ //
| WIND BRACE / \ Y =
| i / I I I ” WIND BRACE Iy I N WIND'BRACE ” I I Iy
| [ \\ [ [ [ \/y [ u\/ [ [ n WIND BRACE )
/
\ \/
= | | \\ // \\ )
| [ \ [ [ [ / I [ [ \ ] [ [ / [
| [ \ [ [ [ // [ 1 [ \\ 1 [ [ // [
| \ / \ /
| N / \ / =
I \ I I I / I I I \\ I I I // I
| I \ I I I ” y I I I \ I ” I I Y I
| \ / \ /
| \\ // \\ //
| I \ I I ” / I I I N ” I ooy I
I \ I I / I I I N I n o/ I
| \ / \ /
| - | : | ! - - | . i . i
| : 24" BOXED<EAVE
\50’—0" 3/12 PITCH LSO’—O” 3/12 PITCH 50’-0" 3/12 PITCH —
COMMON ENDFRAME COMMON TRUSSES @ COMMON ENDFRAME
(30" HEEL) 8" 0.C. (30" HEEL) (30" HEEL)
b b
50 x100 BUILDING SECOND FLOOR LAYOUT
SCALE: 3/16"=1'—O"
_‘/\_ TRUSS
THE PURLIN OVERLAPS SHALL BE
SECURED W/(3)—10d RINGSHANK
ROOF PURLIN : | NAILS IN THE OUTERMOST 6" OF
\ THE PURLIN LAP, EACH END.
|
| | =
< i
f
12” ! 12”
gl - =
|Q| [ _ Q]
_‘/\ r_rv1_'| I [1; | |
| 4/ |
|
| |
NOTE; | -
2x4 ROOF PURLINS (ON—EDGE) AT 24" 0.C. ROOF | K |
PURLINS ARE TO BE SECURED TO THE TRUSS W/(1)—60d § |
RINGSHANK NAIL AT EACH PURLIN TO TRUSS LOCATION. & | |
|
NOTE: | (m |
DRIFT PURLINS SHALL BE SPACED AT 12" O.C. l | %4 \J s J

OUTLINE OF SMALL CANOPY
& OVERHANG BELOW
(SEE SHEET S24)

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876—5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER:  XXXX

PLAN DESIGNER: ~ CHOUA KHA

DRAWN BY: KWK

DATE: 4/25/2025

SCALE: AS NOTED
REVISIONS

NO|DATE DESCRIPTION BY

1

2

SHEET TITLE:

50'x110" BUILDING
ROOF FRAMING PLAN

FILE NAME: BO7425WiI

SHEET NO.

S12




FASCIA BOARD
(SEE DETAIL E/18)
|

GUTTER APRON TRIM

[
GUTTER |

2x4 FASCIA BOARD—

DOOR JAMB TRIM
I
| -
—

STEEL PANEL \
|

ROOF PURLIN (TYP.)
|
STEEL PANEL
|
|
12
I— U
|
|
|
|
//—/

-1 |
|
|

J—-TRIM W/ SMALL FRIEZE

|
VENTED STEEL \4 !

SOFFIT PANEL =

N\ CEILING INSULATION
W/ 4 MIL POLY
|
/ ! e MONO TRUSS
2x4 SOFFIT NAILER |
21 13/16" N

2x6 FIRE BLOCKING >
|
|

\\ 2x4 SUB—PURLINS

) = ON EDGE @ 24" O.C. |
i |
/ Ak GYPSUM CEILING LINER
2x6 FIRE BLOCKING ' 2x4 CEILING NAILER |
q I
/ \ 2x4 WALL NAILER
WALL INSULATION/ ; GYPSUM WALL LINER
STEEL PANEL COLUMN v
__ __ __ __ _ N L __ __ __ __

WALL INSULATION

Y

7

STEEL PANEL

TREATED
GRADEBOARD

BOTTOM TRIM
!

va 04

|

/o LOWSIDE EAVE DETAIL

\13/ SCALE: 1 1/2"=1"-0"

BRACKET (SEE COLUMN

T & BRACKET SCHEDULE)
! ~ — COLUMN

:/ GYRSUM WALL LINER

) \

\
// TREATED GRADEBOARD

: \

\

5" CONCRETE FLOOR
(MATERIALS ‘BY OTHERS)
|

s VR
B <

— I —

PERIMETER
INSULATION -

\
~— NE—
< P—

N

~

[INN\N\N\VE':

T

. . “l
4 B
- .Aa .
L4 = a o |
: /
< .
<
.4 a4t ' .
e '4 gy,
A < .
A o, A :/
. < ..4 <,
ST 4
.o « 7
s s S
//

/B GRADE DETAIL

w SCALE: 1 1/2"=1"-0"

SIDEWALL SECTION FASTENER NOTES

SOFFIT NAILER:
SOFFIT NAILER SECURED WITH (2)-30d RINGSHANK NAILS AT EACH
SOFFIT NAILER TO COLUMN LOCATION.

WALL GIRTS:
WALL GIRTS SECURED WITH (2)—-30d RINGSHANK NAILS AT EACH
GIRT TO COLUMN LOCATION.

INTERIOR TREATED GRADEBOARD::
TREATED GRADEBOARD SECURED WITH (2)=30d RINGSHANK NAILS AT
EACH GRADEBOARD TO COLUMN LOCATION.

EXTERIOR TREATED GRADEBOARD:
TREATED GRADEBOARD SECURED WITH (4)—30d RINGSHANK NAILS AT
EACH GRADEBOARD TO COLUMN LOCATION.

NOTE:

OWNER SHALL PROVIDE THICKNESS MARKERS WHICH ARE INSTALLED
AT LEAST ONE FOR EVERY 300 SQUARE FEET<THROUGHOUT THE
ATTIC SPACE _IFF THE INSULATION IS BEOWN INTO PLACE. THE
MARKERS _SHALL BE AFFIXED TO THE TRUSSES AND MARKED WITH
THE MINIMUM "INITIAL INSTALLED THICKNESS AND MINIMUM SETTLED
THICKNESS. EACH MARKER SHALL FACE THE ATTIC ACCESS PANEL.

NOTE.

CONCEALED  WALL SPACES SHALL HAVE FIRE BLOCKING AT CEILING
AND FLOOR LEVELS AND HORIZONTAL INTERVALS NOT EXCEEDING 10’
PER IBC 718.2. FIRE BLOCKING MAY CONSIST OF TWO INCH NOMINAL
MATERIAL OR INSULATION MEETING IBC REQUIREMENTS.

ADD 2x6 SPLICE BLOCKING AS
NEEDED TO PREVENT SPUITTING.

_\/\_

/ MONO TRUSS

COLUMN

=]
NOSSON

24"

MANSARD
OVERHANG
JACK

A |

N

_\_'}2:__

s
2x6 FASCIA BOARD SECURED —/ \SPLICE

TO BLOCKING @ EACH SPLICE
W/(6)—10d RINGSHANK NAILS,

T
\ZXG FASCIA BOARD SECURED

@ EACH OVERHANG JACK
W/(1)—30d RINGSHANK NAIL.

EACH SIDE OF SPLICE.

TRUSS PLACED INTO COLUMN:
FULL BEARING. (SEE DETAIL E/13)

PREMIUM PRO-RIB
STEEL PANEL SECURED
PER STEEL APPLICATION
DETAIL SHEET.

2x4 SOFFIT NAILER/

(SEE DETAIL D/13)

TRUSS BEARING

(D FASCIA

BOARD DETAIL
W SCALE: 1”=1'-0"

PREMIUM PRO—RIB STEEL PANEL SECURED
PER STEEL APPLICATION DETAIL SHEET.

2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)

MONO 'TRUSS (R-38) CEILING
/— INSULATION W/
4 MIL POLY

A

NOTE:

WATER—RESISTIVE BARRIER
PLACED BETWEEN STEEL
PANEL AND SHEATHING.

ELEV. 116'-0"

PREMIUM PRO—RIB STEEL
PANEL SECURED PER STEEL
APPLICATION DETAIL SHEET.

COLUMN (SEE COLUMN

/

& BRACKET SCHEDULE)\

N — 5/8" GYPSUM CEILING LINER
> —13 — 2x4 SUB—PURLINS ON EDGE @ 24"
12 0.C. SECURED TO EACH TRUSS
W/(2)-30d RINGSHANK NAILS
] GYPSUM CEILING LINER
x 7)_4"

7' TALL 2x4 STUD WALL W/ A
BOTTOM PLATE, A DOUBLE TOP PLATE
AND STUDS SPACED @ 24" 0.C. MAX.
SECURE BOTTOM PLATES TO FLOOR
AS PER OWNER/CONTRACTOR SUCH
THAT WALLS DO NOT SHIFT DURING

8'—1"

16” FLOOR TRUSS @ 24” O.C.

3/4" T&G SHEATHING NORMAL BUILDING USE.

g /\ A 1'_4 3/4”
N— CEILING CONNECTION \ 5/8" GYPSUM CEILING LINER

(SEE DETAIL F/13)

(START GIRT SPACING @ FINISHED FLOOR) —AND—-

,— (R—19) WALL INSULATION
W/ VAPOR BARRIER

L
/— 2x4 INTERIOR GIRTS @ 24" 0.C.

&

(R—10) HIGH DENSITY PERIMETER

INSULATION EXTENDING 4’ INTO BUILDING

(REQUIRED IN HEATED BUILDINGS)

LOCATIONS.
; 9'—6 13/16” , ) /
—1/2" GYPSUM WALL LINER SECURED TO ALL 9'-11/8 ‘ GIRT
FRAMING MEMBERS W/ #6x1 1/4” TYPE W
COARSE THREAD DRYWALL SCREWS @ 4 | /
0.C. MAX. ALONG PANEL EDGES & 12" O.C.
2x6 FLAT WALL GIRTS @ 24" 0.C. @ INTERMEDIATE FRAMING MEMBERS. 2x4 FIRE BLOCKING
(START GIRT SPACING AT |
FINISHED FLOOR) |
| _/
2x8 TREATED GRADEBOARD 2x6 FIRE .B'-OCK'NG_/
(SEE DETAIL B/13) \ | 2x4 TREATED GRADEBOARD | COLUMN
(SEE DETAIL B/13) (1) 2x6 BEARING BLOCK ON EACH — |
SIDE OF COLUMN, SECURED TO
FINISHED FLOOR | , COLUMN W/(8)—30d RINGSHANK
ELEV. 100-0" B T 5 NAILS EACH BLOCK, EVENLY SPACED.

=l=EIEIEISE \ 5" CONCRETE FLOOR
- (MATERIALS BY OTHERS)

...........

6 MIL (0.006 INCH) POLYETHYLENE

W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

HAUNCHED CONCRETE FOOTING
(MATERIALS BY OTHERS) (SEE SHEET S9)

/AN\50°x60° BUILDING SIDEWALL SECTION
\13/ SCALE: 1/2"=1"-0"

2—-PLY 2x12 LEDGER BOARD: (FLUSH)\
1—-PLY CUT TO FIT BETWEEN COLUMNS:
SECURED W/(4)—30d RINGSHANK NAILS
TOE—NAILED, EACH END.

1—PLY FACE NAILED TO COLUMNS:
SECURED W/(5)-30d RINGSHANK NAILS.
SECURED W/(10)—30d RINGSHANK NAILS
@ CONTINUOUS, NON—SPLICE HEADER

FIELD CUT EXTERIOR PLIES
OF COLUMN 3" ABOVE TOP
OF TRUSS. THIS WILL ALLOW
NAILING AREA FOR EDGE

PURLIN OR OVERHANG JACK.

FIELD CUT BEARING BLOCK
TO PROPER LENGTH(FOR
TRUSS BEARING \|

INSERT'BEARING BLOCK INTO
COLUMN AND SECURE EACH
SIDE W/ 2 ROWS OF 30d N
RINGSHANK NAILS N
STAGGERED @ 3" O.C.

MONO

1%

TRUSS

TRUSS?PLACED 'INTO\ COLUMN:
SECURE TRUSS TOP CHORD
W/(4)-30d RINGSHANK
NAILS, (2) EACH SIDE.

\TRUSS PLACED INTO COLUMN:

SECURE TRUSS BOTTOM
CHORD W/(4)—60d RINGSHANK
NAILS, (2) EACH SIDE.

COLUMN

(ENTRUSS INSTALLATION DETAIL

13 /NOT TO SCALE

COLUMN

FLAT GIRT

/—2x6 BEARING BLOCK

2x6 BEARING BLOCK

|~ 2x6 BEARING BLOCK
< 2-PLY 1 3/4"x11 7/8"

LEDGER BOARD

PLAN VIEW THRU HEADER

7

2x6 FIRE BLOCKING\
2x4 FIRE BLOCKING\
|

Y. GIRT

e

' 2x4 WALL NAILER \‘
/ 16” FLOOR TRUSS @ 16" O.C.
v I

N
\

/—3/4" T&G STURDI-FLOOR SHEATHING

7

Y

A

BN

'l ——2x6 BEARING BLOCK CUT

|
/ 1'-4 3/4”
1
HEADER BEARING
ELEV. 109'—6 13/16” |
/ I
24 WALL NAILER / !
(]| 5/8” GYPSUM CEILING LINER
| . ! 8—11/8"
1 /2" GYPSUM WALL LINER | AFE

TO FIT SNUGLY BETWEEN
GIRTS/NAILERS & SECURED
TO COLUMN W/(24)—30d
RINGSHANK NAILS TOTAL,
EVENLY SPACED.

F

CEILING CONNECTION

13

cp

SCALE: 1 1/2"=1"-0"

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876-5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER:  XXXX
PLAN DESIGNER:  CHOUA KHA
DRAWN BY: KWK
DATE: 4/25,/2025
SCALE: AS NOTED
REVISIONS
[NolpATE DESCRIPTION BY
1
2
SHEET TITLE:

50°'x60° BUILDING SIDEWALL
SECTION AND SECTION

DETAILS
BO/7425W

FILE NAME:
SHEET NO.

5715

/




SONSUN

ADD 2x6 SPLICE BLOCKING AS
NEEDED TO PREVENT SPLITTING.

i 24"
4

2

/ MONO TRUSS

NOTE:

PLACED BETWEEN STEEL
PANEL AND SHEATHING.

WATER—RESISTIVE BARRIER

TRUSS PLACED INTO COLUMN:
FULL BEARING. (SEE DETAIL E/13)

SECURED TO ALL FRAMING
MEMBERS W/ 8d COMMON
NAILS @ 6" 0.C.

MANSARD
OVERHANG
JACK

I
| /l A

I
2x6 FASCIA BOARD SECURED —/ \SPLICE

TO BLOCKING @ EACH SPLICE
W/(6)—10d RINGSHANK NAILS,
EACH SIDE OF SPLICE.

+
\2x6 FASCIA BOARD

SECURED @ EACH
MANSARD OVERHANG
JACK W/(1)-30d
RINGSHANK  NAIL.

(o FASCIA BOARD DETAIL

\13/ SCALE: 1"=1"-0

TRUSS \ \

SECURE TRUSS TO STUB COLUMN | ]
W/(8)—30d RINGSHANK NAILS,

(4) NAILS EACH SIDE. / STUB COLUMN
™

SECURE EACH END OF HEADER TO COLUMN AS FOLLOWS:

EXTERIOR PLIES:
1—PLY NOTCHED 1 1/2” INTO JAMB COLUMN: SECURED
W/(4)—30d RINGSHANK NAILS.

1—PLY FACE NAILED TO JAMB COLUMN: SECURED
W/(8)—60d RINGSHANK NAILS.

INTERIOR PLY:
1—PLY FACE NAILED TO JAMB COLUMN: SECURED
W/(8)—30d RINGSHANK NAILS.

~—

N~

—

SECURE STUB COLUMN TO HEADER
W/(14)—30d RINGSHANK NAILS,
(7) NAILS @ INTERIOR PLY &

(7) NAILS @ EXTERIOR PLY.

2—PLY 2x12 2400f MSR SYP (2.0E)/
OVERHEAD DOOR HEADER /COLUMN

(A TRUSS HEADER INSTALLATION DETAIL

17 J SCALE: 1 1/2"=1"-0"

. T S A‘ B N
FLAT WALL GIRT T NTERIOR GIRT
( W | BRACKET (SEE COLUMN
|
4 , & BRACKET SCHEDULE)
WALL INSULATION ] |
N / COLUMN
STEEL PANEL ——=— 4t i
| . [}
0.S.B. WALL SHEATHING : GYPSUM WALL LINER
4
| TREATED i TREATED GRADEBOARD
: GRADEBOARD |
| .
BOTTOM TRIM N N y ‘
| N
| : 5” CONCRETE FLOOR
| | | | (MATERIALS BY OTHERS)

I

.. : R S |
4. b:{ . Qs h :
' : - a L g

‘ A A

|

T T N e 0
‘:PERIMETER—:H» PR ot AU
INSULATION 1P % e T e
- — a R S
sl

ST e

a4

B8\ GRADE DETAIL
W SCALE: 1 1/2"=1"-0"

PREMIUM PRO—-SNAP STEEL —————
COLUMN PANEL SECURED PER STEEL
APPLICATION DETAIL SHEET.

7/16” 0.S.B. WALL SHEATHING ——————

PREMIUM PRO—RIB STEEL PANEL SECURED
PER STEEL APPLICATION DETAIL SHEET.

2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)

MONO TRUSS

(R-38) CEILING
INSULATION W/
4 MIL POLY

TRUSS BEARING

ELEV. 128'—1 3/4"

i

SB
12

5/8" GYPSUM
CEILING LINER

W

%

— 2x4 SUB—PURLINS ON EDGE @ 24"
0.C. SECURED TO EACH TRUSS
W/(2)-30d RINGSHANK NAILS

YW

><

VY

—
e

YW

PEAK (GABLE)
TRIM

VENTED OUTSIDE CLOSURE STRIPS

ROOF PURLIN (TYP.)
STEEL PANEL

FASCIA BOARD
(SEE DETAIL E/18)

STEEL PANEL ———

|
0.S.B. WALL

SHEATHING
|

2x4 FASCIA BOARD\

[
DOOR JAMB
TRIM

VENTED STEEL SOFFIT PANEL

J—TRIM W/ SMALL FRIEZE
2x4 SOFFIT NAILER—/

FLAT WALL GIRT

STEEL PANEL CEILING INSULATION

A

SIDEWALL SECTION FASTENE

W/ 4 MIL POLY

R_NOTES

><

KR

=

&

Y

2x6 FLAT WALL GIRTS @ 24" O.C.
(START GIRT SPACING AT
WAINSCOT NAILER)

Y\

[ ><

AN

<

=
V4

KK

[ =><

SOFFIT NAILER:
SOFFIT NAIER SECURED. WITH (2)—30d RINGSHANK
SOFFIT NAILER TO COLUMN LOCATION.

WALL GIRTS:
WALL GIRTS SECURED WITH (2)—30d RINGSHANK NA
GIRT TO COLUMN LOCATION:

INTERIOR TREATED GCRADEBOARD:
TREATED GRADEBOARD SECURED WITH (2)—-30d RIN
EACH GRADEBOARD TO COLUMN LOCATION.

EXTERIOR TREATED GRADEBOARD:
TREATED GRADEBOARD SECURED
EACH GRADEBOARD_ TO“COLUMN LOCATION.

WITH (4)-30d RIN

NAILS AT EACH

0.S.B. WALL
SHEATHING

2x6 FIRE BLOCKING\

2x6 FIRE BLOCKING

LS AT EACH

|
|
TSH ANK NAILS AT

VY

AN

<

(TSHANK NAILS AT
|
|
1

2x4 CEILING

N

AV

AN
=

YYY

%

NOTE:

OWNER SHALL PROVIDE THICKNESS MARKERS WHICH| ARE INSTALLED
AT LEAST ONE FOR EVERY 300 SQUARE FEET THROUGHOUT THE
ATTIC SPACE IF THE INSULATION IS BLOWN INTO PLACE. THE
MARKERS SHALL BE AFFIXED TO THE TRUSSES AND WMARKED WITH

W/ VAPOR BARRIER THICKNESS. EACH MARKER SHALL FACE THE ATTIC ACCESS PANFL. _

{=——GYPSUM WALL LINER

WALL INSULATION

MONO TRUSS

NAILER
2x4 WALL NAILER

2x4 SUB—PURLINS ON
EDGE @ 24" O.C.

GYPSUM CEILING LINER

7/

A

<l

] 28'-1 3/8”

/ (R—18) WALL INSULATION THE MINIMUM INITIAL INSTALLED THICKNESS AND MINIMUM SETTLED

Y

7/16" 0.S.B. WALL SHEATHING
SECURED TO ALL FRAMING
MEMBERS W/ 8d COMMON

NAILS @ 6" 0.C. BLOCK @

%

%

NOTE:

CONCEALED WALL SPACES SHALL HAVE FIRE BLOCKING AT CEILING
AND FLOOR LEVELS AND HORIZONTAL INTERVALS NOT EXCEEDING 10’
PER IBC 718.2. FIRE BLOCKING MAY CONSIST OF TWO INCH NOMINAL
MATERIAL OR INSULATION MEETING IBC REQUIREMENTS.

13/ SCALE: 1 1/2=1-0"

ALL PANEL EDGES.

RE

\

NI,

VAN

2x4 INTERIOR GIRTS @ 24" 0.C.
(START GIRT SPACING @ FINISHED FLOOR)

=

W

COLUMN (SEE COLUMN
& BRACKET SCHEDULE)\

%

| =< ]
Y'&
‘A
[ o<

AN

VY

%

1/2” GYPSUM WALL LINER
SECURED TO ALL FRAMING
/MEMBERS W/ #6x1 1/4” TYPE W
COARSE THREAD DRYWALL
SCREWS @ 4" 0.C. MAX. ALONG
PANEL EDGES & 12" O0.C. @
INTERMEDIATE FRAMING MEMBERS.

THREE

=

=
<

%

PREMIUM PRO—-SNAP STEEL
PANEL SECURED PER STEEL\
APPLICATION DETAIL SHEET.

YA

0

NOTE:

WATER—RESISTIVE BARRIER
PLACED BETWEEN STEEL
PANEL AND SHEATHING.

2x8 TREATED GRADEBOARD
(SEE DETAIL B/14) \

T

%

YA

[ ><

A

/fi

=
Ve

.

7
W

%

2x4 TREATED GRADEBOARD
(SEE DETAIL B/14)

X%

Yt
7

N

\Nv \\\
1NN . ' ' FINISHED FLOOR
. 1 Tl f L gt T DTN s R 5" ELEV. 100»_0n

t 1

':;ozozuz*'to_go;o N
EIIIEMEI ==l \ 5” CONCRETE FLOOR
T N (MATERIALS BY OTHERS)

|—] e

il

S 6 MIL (0.006 INCH) POLYETHYLENE

W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

HAUNCHED CONCRETE FOOTING
(MATERIALS BY OTHERS) (SEE SHEET S9)

(R—10) HIGH DENSITY PERIMETER
INSULATION EXTENDING 4’ INTO BUILDING
(REQUIRED IN HEATED BUILDINGS)

W SCALE: 1/2"=1"-0"

FIELD CUT EXTERIOR PLIES
OF COLUMN 3" ABOVE TOP
OF TRUSS. THIS WILL ALLOW
NAILING AREA FOR EDGE

PURLIN OR OVERHANG JACK.

FIELD CUT BEARING BLOCK
TO PROPER LENGTH FOR
TRUSS BEARING

INSERT BEARING BLOCK INTO
COLUMN AND SECURE EACH
SIDE W/ 2 ROWS OF 30d
RINGSHANK NAILS
STAGGERED @ 3" O.C.

MONO TRUSS

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876-5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

L — TRUSS PLACED INTO COLUMN:
SECURE TRUSS TOP CHORD
W/(4)-30d RINGSHANK
NAILS, (2) EACH SIDE.

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER: XXXX

PLAN DESIGNER: CHOUA KHA

TRUSS PLACED INTO COLUMN:
SECURE TRUSS BOTTOM

CHORD W/(4)-60d RINGSHANK

NAILS, (2) EACH SIDE.

(ENTRUSS INSTALLATION DETAIL

NOT TO SCALE

DRAWN BY: KWK
DATE: 4/25,/2025
SCALE: AS NOTED
REVISIONS
[NolpATE DESCRIPTION BY
1
2
SHEET TITLE:

50°'x60° BUILDING SIDEWALL
SECTION, SECTION DETAILS
AND HEADER DETAIL

FILE NAME: BO7425WI

SHEET NO.

5714

/




7
WALL INSULATION

/

I
2x4 FIRE BLOCKING N
| \

2x6 FIRE BLOCKING\ N

/

}/1 /2" GYPSUM WALL LINER

. 2x4 WALL NAILER
:/ 16” FLOOR TRUSS @ 24" O.C.
4

/—3/4" T&G STURDI-FLOOR SHEATHING

|
|
|
|
|
T
|
|

AN

GIRT |

STEEL PANEL o ¢ -4 3/4
\ 2 _0 | |
| ‘ |

2x4 FIRE BLOCKING \
| |
| |
N . . m— :
| . \—5/8" GYPSUM CEILING LINER |
[ [
COLUMN \ ‘\2x4 WALL NAILER
\ ) 8-11/8"
q A.F.F.

|
0.S.B. WALL SHEATHING

GIRT

.{1/1/2" GYPSUM WALL LINER

| —>— 1/

GIRT

/2 CEILING CONNECTION DETAIL

\15/ SCALE: 1 1/2"=1"-0"

FLAT WALL GIRT

[
[
I
BOTTOM TRIM
I
|
|

|

L— PERIMETER
7~ INSULATION

N _lJ_

NOTE

WATER—RESISTIVE BARRIER

PLACED BETWEEN STEEL
PANEL AND SHEATHING.

ENDWALL SECTION FASTENER NOTES

MANSARD JACK:

MANSARD JACKS SECURED TO TRUSS WITH (2)—60d RINGSHANK

NAILS, 16" MIN. APART.
SOFFIT NAILER:

SOFFIT NAILER SECURED WITH (2)—30d RINGSHANK NAILS AT EACH
SOFFIT NAILER TO COLUMN LOCATION.

WALL GIRTS:

WALL GIRTS SECURED WITH (2)—30d RINGSHANK NAILS AT EACH

GIRT TO COLUMN LOCATION.

INTERIOR TREATED GRADEBOARD:
TREATED GRADEBOARD SECURED WITH (2)—30d RINGSHANK NAILS AT
EACH GRADEBOARD TO COLUMN LOCATION.

EXTERIOR TREATED CRADEBOARD:
TREATED GRADEBOARD SECURED
EACH GRADEBOARD TO COLUMN LOCATION.

WITH (4)—-30d RINGSHANK NAILS AT

NOTE:

OWNER SHALL PROVIDE THICKNESS MARKERS WHICH ARE INSTALLED
AT LEAST ONE FOR EVERY 300 SQUARE FEET THROUGHOUT THE
ATTIC SPACE IF THE INSULATION IS BLOWN INTO PLACE. THE
MARKERS SHALL BE AFFIXED TO THE TRUSSES AND MARKED WITH
THE MINIMUM INITIAL INSTALLED THICKNESS AND MINIMUM-SETTLED
THICKNESS. EACH MARKER SHALL FACE THE ATTIC ACCESS PANEL.

NOTE:

CONCEALED WALL SPACES SHALL HAVE FIRE BLOCKING AT<CEILING
AND FLOOR LEVELS AND HORIZONTAL INTERVALS NOT _EXCEEDING 10’
PER IBC 718.2. FIRE-BLOCKING MAY CONSIST OF TWO INCH NOMINAL
MATERIAL OR INSULATION MEETING IBC REQUIREMENTS.

|
WALL INSULATION

/

STEEL PANEL

TREATED
GRADEBOARD

=

& o N
]\ | INTERIOR GIRT

BRACKET (SEE COLUMN
& BRACKET SCHEDULE)
|

COLUMN

GYPSUM WALL LINER

[
TREATED GRADEBOARD

/B GRADE DETAIL

\J5/ SCALE: 1 1/2"=1"-0"

\\
5" CONCRETE FLOOR
- L) (MATERIALS BY OTHERS)
a la . i N
. 4:4; . AA -4 0 a .
278 4a . ]
g
2B < |
4« 4 .4 :
-9 4 4y

&

CEILING INSULATION
W/ 4 MIL POLY

ENDFRAME \
[

| A

2x6 FIRE BLOCKING\
|
|

: N
STEEL PANEL )
|

[
WALL INSULATION \

N \
| ) GYPSUM CEILING LINER
i . 2x4 CEILNG NAILER |
\ /
N

2x4 SUB—PURLINS |
ON EDGE @ 24” O.C.
Y

A= >/<I
o

0.S.B. WALL SHEATHING

\

\ 2x4 WALL NAILER
; GYPSUM WALL LINER
COLUMN .

AN

(0 CEILING_CONNECTION DETAIL
w SCALE: 1 1/2"=1"-0"

PREMIUM PRO—RIB STEEL PANEL SECURED
PER STEEL APPLICATION DETAIL SHEET.

2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)

24" /26" MANSARD BOXED
GABLE (SEE DETAIL E/15) \

&

7
PREMIUM PRO—SNAP STEEL —=] I
PANEL SECURED PER STEEL > ’
APPLICATION DETAIL SHEET.
7/16" 0.S.B. WALL SHEATHING TRUSS /
SECURED TO ALL FRAMING G —
MEMBERS W/ 8d COMMON
ENDFRAME: al /\__ JE_ (R—38) "CEILING INSULATION
ENDFRAME SECURED TO ALL ENDWALL 7 /_ W/ 4 MIL POLY
COLUMNS WITH (5)—30d RINGSHANK NAILS —-,/\——
AT EACH ENDFRAME TO COLUMN LOCATION. §
“
N
ENDFRAME BEARING — )
ELEV. VARIES = T
CEILING CONNECT ON—/ 5/8" GYPSUM CEILING LINER
ILING | n
2x4 SUB—PURLINS ON EDGE @ 24
(SEE DETAIL D/15) 0.C. SEGURED TO EACH-TRUSS
W/(2)-30d RINGSHANK NAILS
VARIES
- _ _\'\_
2x4 INTERIOR GIRTS @ 24" O.C.
/ (START GIRT SPACING @ FINISHED FLOOR)
16” FLOOR TRUSS @ 24" O.C.
/—3/4" T&G SHEATHING
NOTE:
WATER—RESISTIVE BARRIER g , .
PLACED BETWEEN STEEL 1'-4 3/4
PANEL AND SHEATHING.

PREMIUM PRO—SNAP STEEL
PANEL SECURED PER STEEL
APPLICATION DETAIL SHEET.

\ 5/8" GYPSUM CEILING LINER

CEILING CONNECTION
(SEE DETAIL C/15)

COLUMN (SEE COLUMN (R—19) WALL INSULATION
& BRACKET SCHEDULE)\ / W/ VAPOR BARRIER

1/2” GYPSUM WALL LINER 9'-11/8"
SECURED TO ALL FRAMING
MEMBERS W/ #6x1 1/4” TYPE W

COARSE THREAD DRYWALL SCREWS
@ 4” 0.C. MAX. ALONG PANEL
EDGES & 12" 0.C. @ INTERMEDIATE
FRAMING MEMBERS.

/

v a

7/16" 0.S.B. WALL SHEATHING
SECURED TO ALL FRAMING
MEMBERS W/ 8d COMMON
NAILS @ 6" O.C.

(SEE DETAIL B/15)

2x4 TREATED GRADEBOARD
(SEE DETAIL B/15)

2x8 TREATED GRADEBOARD\

FINISHED FLOOR

ELEV. 100'-0"

1 A
N

=T \ 5" CONCRETE FLOOR

(MATERIALS BY OTHERS)

(R—10) HIGH DENSITY PERIMETER
INSULATION EXTENDING 4’ INTO BUILDING
(REQUIRED IN HEATED BUILDINGS)

6 MIL (0.006 INCH) POLYETHYLENE
W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

HAUNCHED CONCRETE FOOTING
(MATERIALS BY OTHERS) (SEE SHEET S9)

AN\ 40'x60° BUILDING ENDWALL SECTION
\15/ SCALE: 1/2"=1-0"

2x4 FASCIA BOARD

GABLE TRIM

STEEL PANEL ——

0.S.B. WALL

STEEL PANEL

2x4 ROOF PURLIN EXTENDED
22 1/2” BEYOND 0.S.B.

RN

SHEATHING

2x4 FASCIA BOARD\

DOOR JAMB
TRIM

~—-—COLUMN

>

| _/
VENTED, STEEL SOFFIT PANEL

J-TRIM W/ SMALL FRIEZE
21_0”

STEEL-PANEL —
0.S.B. WALL SHEATHING

/) 24" MANSARD BOXED GABLE

DETAIL

\8/ scaLe: 1 1/2"=1"-0"

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876-5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER: XXXX

PLAN DESIGNER: CHOUA KHA

DRAWN BY: KWK

DATE: 4/25,/2025

SCALE: AS NOTED

REVISIONS

[NolpATE DESCRIPTION BY
1

2

SHEET TITLE:

50°'x60" BUILDING ENDWALL
SECTION AND SECTION
DETAILS

FILE NAME: BO7425WI

SHEET NO.

S5ST15H

/




)

1/2" GYPSUM WALL LINER

/

[ 2x4 WALL NAILER

16" FLOOR TRUSS
@ 24" 0.C.

3/4" T&G STURDI-FLOOR
SHEATHING

-

1'—4 3/4" |

.<

/ ENDFRAME

CEILING INSULATION
W/ 4 MIL POLY

2x4 SUB—PURLINS

ON EDGE @ 24" O.C.
Y

2x6 FIRE BLOCKING

/\
AR
VY

PR

2x4 CEILING NAILER

2x4 WALL NAILER

\ GYPSUM WALL LINER

g-11/8" |
AF.F.

GYPSUM CEILING LINER—/

2x4 WALL NAILER
GYPSUM WALL LINER

A

. GIRT X
A _v

2x4 FIRE BLOCKING

COLUMN

GIRT

\GYPSUM CEILING LINER

(B CEILING CONNECTION DETAIL

W SCALE: 1 1/2"=1"-

On

ENDWALL SECTION FASTENER NOTES

MANSARD JACK:
MANSARD JACKS SECURED TO TRUSS WITH (2)—60d RINGSHANK
NAILS, 16" MIN. APART.

WALL GIRTS:
WALL GIRTS

SECURED WITH (2)-30d RINGSHANK NAILS AT EACH
GIRT TO COLUMN LOCATION.

INTERIOR TREATED GRADEBOARD:
TREATED GRADEBOARD SECURED WITH (2)—30d RINGSHANK NAILS AT
EACH GRADEBOARD TO COLUMN LOCATION.

EXTERIOR TREATED GRADEBOARD:
TREATED GRADEBOARD SECURED
EACH GRADEBOARD TO COLUMN LOCATION.

WITH (4)—30d RINGSHANK NAILS AT

NOTE:
OWNER SHALL PROVIDE THICKNESS MARKERS WHICH ARE INSTALLED
AT LEAST ONE FOR EVERY 300 SQUARE FEET THROUGHOUT THE
ATTIC SPACE IF THE INSULATION IS BLOWN INTO PLACE. THE
MARKERS SHALL BE AFFIXED TO THE TRUSSES AND MARKED WITH
THE MINIMUM INITIAL INSTALLED THICKNESS AND MINIMUM SETTLED
THICKNESS. EACH MARKER SHALL FACE THE ATTIC ACCESS PANEL.

NOTE:

CONCEALED WALL SPACES SHALL HAVE FIRE BLOCKING AT CEILING
AND FLOOR LEVELS AND HORIZONTAL INTERVALS NOT EXCEEDING 10’
PER IBC 718.2. FIRE BLOCKING MAY CONSIST OF TWO INCH NOMINAL
MATERIAL OR INSULATION MEETING IBC REQUIREMENTS.

/

|

WALL INSULATION

| /|

I
GYPSUM WALL LINER

TREATED GRADEBOARD
|
|

N
\

\

BRACKET (SEE COLUMN
& BRACKET SCHEDULE)

COLUMN
|

GYPSUM WALL LINER

TREATED GRADEBOARD
|
|

5" CONCRETE FLOOR
(MATERIALS BY OTHERS)
|

K Y < .
b, - < -4 a < 4. B g .
L ; 4 : 4 . §..'A . 4 <
. - o
I a co T Ag' < g i !
e an a4y o4 o ] T T
. I a9 4 ——PERIMETER
‘4 < - ) — INSULATION
< a LA < — I |1
. " . -
h :_ . _A_ Y. A4 - 4 _—| | |7/

/B GRADE DETAIL

\13/ SCALE: 1 1/2"=1"-0"

2x6 FIRE BLOCKING

2x4 FIRE BLOCKING
GYPSUM WALL LINER

C

N

2x6 FLASHING NAILER ©

/ SAME PITCH

STEEL PANEL

SIDEWALL FLASHING
(SEE DETAIL D/16)

SN

AS TRUSS.

LN

/\

N~

| —— |

|
\ i
2x4 DRIFT PURLIN

EN

DFRAME

(BN SIDEWALL FLASHING DETAIL

\8/ scae: 1 1/2"=1"-0"

PREMIUM PRO—RIB STEEL PANEL SECURED
PER STEEL APPLICATION DETAIL SHEET.

2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)

24" MANSARD BOXED GABLE
/ (SEE DETAIL E/16)

J

(R-38) CEILING INSULATION —~
W/ 4 MIL POLY

MONO TRUSS

N
1
|

B

—

ENDFRAME BEARING

&

ELEV. VARIES

VARIES

'—4 3/4”

5/8” GYPSUM CEILING LINER

2x4 SUB—PURLINS ON EDGE @ 24"

0.C. SECURED TO EACH TRUSS
W/(2)-30d RINGSHANK NAILS

CEILING CONNECTION

(SEE DETAIL.D/15)

o =N N N

~—— PREMIUM PRO-RIB STEEL
PANEL SECURED PER_STEEL
APPLICATION DETAI SHEET.

NOTE:

WATER—RESISTIVE ‘BARRIER
PLACED BETWEEN STEEL
PANEL AND GIRTS.

ENDFRAME

ENDFRAME:

ENDFRAME SECURED TO ALL ENDWALL
COLUMNS WITH (5)—30d RINGSHANK NAILS
AT EACH ENDFRAME TO COLUMN LOCATION.

~———— PREMIUM PRO-RIB~STEEL

PANEL SECURED PER STEEL
APPLICATION DETAIL SHEET.

2x6 FLASHING NAILER ©
SAME PITCH AS TRUSS.

SIDEWALL_FLASHING
(SEE DETAIL D/16)

1/2" GYPSUM WALL LINER\

16" FLOOR TRUSS @ 24" 0.C.
3/4" T&G SHEATHING—\

=]

N—

ENDFRAME

(R—38) CEILING INSULATION
W/ 4 MIL POLY \

—

\/\z\/\/\/\mé/\_éé:;

5/8" GYPSUM CEILING LINER /

CEILING CONNECTION
(SEE DETAIL C/16)

COLUMN (SEE COLUMN
& BRACKET SCHEDULE)

2x6 FLAT WALL GIRTS @ 24" O.C.

5/8" GYPSUM CEILING LINER

— 2x4 SUB—PURLINS ON EDGE @ 24"
0.C. SECURED TO EACH TRUSS

W/(2)-30d RINGSHANK NAILS

2x4 ROOF PURLIN EXTENDED
22 1/2” BEYOND O.S.B.

STEEL PANEL

2x4 FASCIA,BOARD

VAN LN\ AN
GABLE TRIM
4 ——— STEEL PANEL
COLUMN ———
2x4 FASCIA BOARD
DOOR JAMB
w TRIM
ENDFRAME

|
\VENTED STEEL SOFFIT PANEL

J-TRIM W/ SMALL FRIEZE
21_0”

———— STEEL PANEL

0.S.B. WALL SHEATHING

NOTE: (50°x60° NORTH ENDWALL ONLY)
SECURE STEEL WALL PANEL W/

#12x3 /4" STITCH SCREWS 8" 0.C.

AT ALL STEEL PANEL OVERLAPS.

PREMIUM PRO-—RIB STEEL PANEL SECURED
PER STEEL APPLICATION DETAIL SHEET.

2x4 ROOF PURLINS (ON—EDGE)
/ (SEE ROOF FRAMING PLAN)

TRUSS BEARING
ELEV. 110—1 1/8"

&

&

2x4 INTERIOR GIRTS @ 24” 10=1 1/8"
START GIRT SPACING
@ FINISHED FLOOR)
(R-19) WALL INSULATION
W/ VAPOR BARRIER \ 1/2" GYPSUM WALL LINER
1/2" GYPSUM WALL LINER /
\ 2x8 TREATED GRADEBOARD
2x4 TREATED GRADEBOARD (SEE DETAIL B/16)
(SEE DETAIL B/16) \
FINISHED FLOOR , FINISHED FLOOR
ELEV. 100—0" : 5 ELEV. 1000

5" CONCRETE FLOOR '
(MATERIALS BY OTHERS) =

L

E

6 MIL (0.006 INCH) POLYETHYLENE

W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

g =4

.|II¥III

q

el T==11==11= (1

I
T 'Jz”E.ET—'
=ENH TR

\5" CONCRETE FLOOR

(MATERIALS BY OTHERS)

6 MIL (0.006 INCH) POLYETHYLENE
W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

HAUNCHED CONCRETE FOOTING

(MATERIALS BY OTHERS) (SEE SHEET S9)

A\ COMMON ENDWALL SECTION

\16/ SCALE: 1/2"=1"-0"

[0 24"

MANSARD BOXED GABLE DETAIL

\8/ scaLe: 1 1/2"=1"-0"

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876-5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

COMMON ENDWALL
SECTION AND SECTION
DETAILS

LA CROSSE, W
PROF. ENGINEER:  XXXX
PLAN DESIGNER:  CHOUA KHA
DRAWN BY: KWK
DATE: 4/25,/2025
SCALE: AS NOTED
REVISIONS
[NolpATE DESCRIPTION BY
1
2
SHEET TITLE:

FILE NAME:

BO7425W|

SHEET NO.

5716

/




NOTE:
PURLINS SECURED BETWEEN OVERHANG
JACKS W/ MITEK JDS24 PURLIN HANGERS.

ROOF PURLIN (TYP.)

)

| |
| |

STEEL PANEL .

3
: 24” OVERHANG JACK :

12 //,/’
FASCIA BOARD 3= - /’\ |
(SEE DETAIL E/17) \6" WWN. |
\,‘//

GUTTER APRON '
TRIM | |

cutiert" — / -
| VENTED STEEL SOFFIT PANEL //

TRUSS

\
\
\
\
=7
\

J—-TRIM W/ SMALL FRIEZE
SOFFIT NAILER

/

[ | 22 1/2" [
| |
| / \ / |
! 2x4 SUB—PURLINS !
ON EDGE @ 24" O.C.
|
|
STEEL PANEL—/

] |
k \\GYPSUM CEILING LINER
2x4 CEILING NAILER

2x4 WALL NAILER

2x4 FIRE BLOCKING

2x6 FIRE BLOCKING
WALL INSULATION

GYPSUM WALL LINER
COLUMN Y,

AN
?mxﬁ»

W SCALE: 1 1/2"=1'-0"

2x4 SPACER BLOCKS

/— GYPSUM WALL LINER

VERIFY INTERIOR
FINISH OF DOOR
AND WINDOW JAMBS

INTERIOR GIRT

2x6 VERTICAL JAMB \

SIDEWALL SECTION FASTENER NOTES

GIRT QVERHANG JACK:
OVERHANG JACKS SECURED TO TRUSS WITH (2)—60d RINGSHANK
NAILS, 16” MIN. APART.

A

SERVICE DOOR

|
WINDOW ] SOFFIT NAILER:
/ T~ SOFFIT NAILER SECURED WITH«(2)—30d RINGSHANK NAILS AT EACH
——————————————— T SOFFIT NAILER TO COLUMN® LOCATION.
\u<\ WALL GIRTS:
HEM TRIM STEEL PANEL WALL GIRTS SECURED WITH (2)—30d RINGSHANK NAILS AT EACH
J—TRIM GIRT TO COLUMN LOCATION.

2x4 SPACER BLOCKS
INTERIOR._TREATED GRADEBOARD:

TREATED GRADEBOARD ‘SECURED WITH (2)=30d RINGSHANK NAILS AT
EACH GRADEBOARD TO COLUMN LOCATION.

EXTERIOR TREATED GRADEBOARD:
TREATED GRADEBOARD SECURED WITH (4)—30d RINGSHANK NAILS AT
EACH GRADEBOARD TO COLUMN LOCATION.

SERVICE DOOR/WINDOW JAMB DETAIL

SCALE: 3"=1'-0"

NOTE:

OWNER SHALL PROVIDE THICKNESS MARKERS WHICH ARE INSTALLED
AT LEAST ONEFOR EVERY 300 SQUARE FEET THROUGHOUT THE
ATTIC SPACE"IF THE INSULATION IS BLOWN INTO PLACE. THE
MARKERS SHALL BE AFFIXED TO THE TRUSSES AND MARKED WITH
THE MINIMUM INITIAL INSTALLED THICKNESS AND MINIMUM SETTLED
THICKNESS. EACH MARKER SHALL FACE THE ATTIC ACCESS PANEL.

WALL INSULATION \ BRACKET (SEE COLUMN

& BRACKET SCHEDULE)
COLUMN

/\\

NOTE:
CONCEALED WALL SPACES SHALL HAVE FIRE BLOCKING AT CEILING

TREA}§D GRADEBOARD
\
5" CON?RETE FLOOR

BO7|'TOM TRIM N

(MATERIALS BY OTHERS)

STEEL PANEk i >\/
s AND FLOOR LEVELS AND HORIZONTAL INTERVALS NOT EXCEEDING 10
: OYPSUM WALL LINER PER IBC 718.2. FIRE BLOCKING MAY CONSIST OF TWO INCH NOMINAL
TREATED GR ADEéOARD . / ; MATERIAL OR INSULATION MEETING IBC REQUIREMENTS.

{ 4

1

a . 5 N v |
. AVZA 44 g4 a 4 !
— / < .q .
Ty . 2. ./
< . -4, a .
\ — L ) . : ey
4 .
PERIMETER \ INSULATION = S 4 v . ’
| m e e/

1

//(‘
[N

>N
ab

A

(2 GRADE DETAIL
W SCALE: 1 1/2"=1"-0"

NOTE:
PEAK PURLINS BUTTED END TO END AND
ALL OTHER PURLINS WILL OVERLAP 12" MIN.

UNIVERSAL RIDGECAP

2x4 PEAK PURLA

STEEL PANEL

VENTED

TRUSS /

(M PEAK PURLIN DETAIL

17

SCALE: 1"=1"-0"

2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)

PREMIUM PRO-RIB STEEL PANEL SECURED
PER STEEL APPLICATION DETAIL SHEET.

TRUSS PLACED INTO COLUMN:
FULL BEARING. (SEE DETAIL F/17)

24” BOXED EAVE
(SEE DETAIL C/17)

2x4 SOFFIT NAILER
(SEE DETAIL C/17)

NOTE:

SOFFIT NAILER SECURED TO
COLUMNS BETWEEN TRUSSES.
DO NOT NOTCH TRUSSES!

2x6 SOFFIT NAILER — |

(SEE DETAIL C/17)

PREMIUM PRO—RIB STEEL
PANEL SECURED PER STEEL
APPLICATION DETAIL SHEET.

/

2x6 FLAT WALL GIRTS @ 24” 0.C.
(START GIRT SPACING @ FINISHED
FLOOR)

COLUMN (SEE COLUMN
& BRACKET SCHEDULE)\

NOTE:

WATER—RESISTIVE BARRIER
PLACED BETWEEN STEEL
PANEL AND GIRTS.

2x8 TREATED GRADEBOARD
(SEE DETAIL B/17) \

DX

EXTEND STEEL PAST PEAK
PURLIN—OVERLAP VARIES PER

OWNER’S SPECIFICATIONS

OUTSIDE

CLOSURE STRIPS

TRUSS

12
3L—

[~ (R-38) CEILING INSULATION
W/ 4 MIL POLY

G e iy

2x4 INTERIOR GIRTS @ 24" O.C.

(R—19) WALL INSULATION
/ W/ VAPOR BARRIER

1/2" GYPSUM WALL LINER
SECURED TO ALL FRAMING
MEMBERS W/ #6x1 1/4” TYPE W

COARSE THREAD DRYWALL SCREWS
@ 4" 0.C. MAX. ALONG PANEL

EDGES & 12" 0.C. @ INTERMEDIATE
FRAMING MEMBERS.

2x4 TREATED GRADEBOARD
/ (SEE DETAIL B,/17)

5/8" GYPSUM CEILING LINER

2x4 SUB-PURLINS ON EDGE @ 24"
0.C. SECURED TO EACH TRUSS
W/(2)—30d RINGSHANK NAILS

(START GIRT SPACING @ FINISHED FLOOR)

TRUSS BEARING

ELEV. 1101 1/8"

10'-1 1/8"

FINISHED FLOOR

&

........
e .

ELEV. 100'-0"

(R—10) HIGH DENSITY PERIMETER
INSULATION EXTENDING 4’ INTO BUILDING
(REQUIRED IN HEATED BUILDINGS)

5" CONCRETE FLOOR
(MATERIALS BY OTHERS)

6 MIL (0.006 INCH) POLYETHYLENE
W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

HAUNCHED CONCRETE FOOTING

(MATERIALS BY OTHERS) (SEE SHEET S9)

(A 50’x110" BUILDING SIDEWALL SECTION

\17/ SscALE: 1/2"=1"-0"

ADD 2x6 SPLICE BLOCKING AS
NEEDED TO PREVENT SPLITTING.

/ TRUSS

=<
SORSUN

OVERHANG JACK

K/ COLUMN

24"

~—

N

N

|
T

| _/
2x6 FASCIA BOARD SECURED

TO BLOCKING @ EACH SPLICE
W/(6)—10d RINGSHANK NAILS,
EACH SIDE OF SPLICE.

4

SP

LICE \2x6 FASCIA BOARD SECURED

@ EACH OVERHANG JACK

W/(1)—30d RINGSHANK NAIL.

/B FASCIA BOARD DETAIL

\17/ SCALE: 1"=1"-0"

MONO TRUSS

FIELD CUT EXTERIOR PLIES
OF COLUMN 3" ABOVE TOP
OF TRUSS. THIS WILL ALLOW
NAILING AREA FOR EDGE

PURLIN OR OVERHANG JACK.

FIELD CUT BEARING BLOCK !
TO PROPER LENGTH FOR \
TRUSS BEARING

INSERT BEARING BLOCK INTO
COLUMN AND SECURE EACH \
SIDE W/ 2 ROWS OF 10d
RINGSHANK NAILS

STAGGERED @ 3" O.C.

~

— TRUSS PLACED INTO COLUMN:
SECURE TRUSS TOP CHORD
W/(4)—-30d RINGSHANK
NAILS, (2) EACH SIDE.

TRUSS PLACED INTO COLUMN:
SECURE TRUSS BOTTOM
CHORD W/(4)—30d RINGSHANK
NAILS, (2) EACH SIDE.

\ COLUMN

/

(ANTRUSS INSTALLATION DETAIL

17 /NOT TO SCALE

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876-5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER:  XXXX
PLAN DESIGNER:  CHOUA KHA
DRAWN BY: KWK
DATE: 4/25,/2025
SCALE: AS NOTED
REVISIONS
[NolpATE DESCRIPTION BY
1
2
SHEET TITLE:

50'x110" BUILDING SIDEWALL
SECTION AND SECTION
DETAILS

FILE NAME: BO7425WI

SHEET NO.

ST7

/




NOTE:
PURLINS SECURED BETWEEN OVERHANG
JACKS W/ MITEK JDS24 PURLIN HANGERS.

ROOF PURLIN (TYP.)

STEEL PANEL

» MWN- |

TRUSS

3
! 24" OVERHANG JACK
12 -
FASCIA BOARD 3— -
(SEE DETAIL E/17) 1 \6
\,‘//
GUTTER APRON
TRIM !
GUTTER- — / = ><
: VENTED STEEL SOFFIT PANEL " 7_//7/
J-TRIM W/ SMALL FRIEZE/ X
SOFFIT NAILER '
I 22 1/2"
|
|
|
|
|
STEEL PANEL —N—

/ |
2x4 SUB—PURLINS !
ON EDGE @ 24” O.C.

2x4 FIRE BLOCKING

2x6 FIRE BLOCKING
WALL INSULATION

N

EANNANEA
oo .

AR LI LI
|
\GYPSUM CEILING LINER

2x4 CEILING NAILER
2x4 WALL NAILER [

GYPSUM WALL LINER
COLUMN Y,

/2 24" BOXED EAVE DETAIL

W SCALE: 1 1/2"=1"-0"

31/4”
COLOR SIDE

1/2"/\ ::; "
A

.

165°

NOVA—BRIK FLASHING

SCALE: 3"=1'-0"

7 STEEL PANEL LN T N
2x6 WAINSCOT NAILER \ :
NOVA—BRIK FLASHING \ z

(SEE DETAIL; ABOVE) N |

N
| N |

[
GYPSUM WALL LINER
|
|
|

NOVA—-BRIK GIAP BLOCK

[
TREATED PLYWOOD SHEATHING

) X GRT |
AR FILTRATIJ)N BARRIER\' VB
| kN2

2x6 WAINSCOT NAILER

> I
. BRACKET (SEE COLUMN
/ & BRACKET SCHEDULE)

|
%
L1 COLUMN
/ |
|
/< TREATED GRADEBOARD
’ //_ 5" CONCRETE FLOOR

(MATERIALS BY OTHERS)

alls 4 R |

s BoodL

| h. _ ’ e S )

s G i o

== <9 o

|| 11 | ——] | | . a ) o S

PERIMETER INSULATION | e e
M ——1 | |—— : e e A

S IR o et e g s

/B NOVA—BRIK WAINSCOT DETAIL
\7/ SCALE: 1 1/2"=1'-0"

SIDEWALL SECTION FASTENER NOTES

OVERHANG JACK:
OVERHANG JACKS SECURED TO TRUSS WITH (2)—60d RINGSHANK

NAILS, 16” MIN. APART.

SOFFIT NAILER:
SOFFIT NAILER SECURED WITH«(2)—30d RINGSHANK NAILS AT EACH
SOFFIT NAILER TO COLUMN® LOCATION.

WALL GIRTS:
WALL GIRTS SECURED WITH (2)-30d RINGSHANK NAILS AT EACH
GIRT TO COLUMN LOCATION.

INTERIOR._TREATED GRADEBOARD:
TREATED GRADEBOARD ‘SECURED WITH (2)=30d RINGSHANK NAILS AT
EACH GRADEBOARD TO COLUMN LOCATION.

EXTERIOR TREATED GRADEBOARD:
TREATED GRADEBOARD SECURED WITH (4)—30d RINGSHANK NAILS AT
EACH GRADEBOARD TO COLUMN LOCATION.

NOTE:

OWNER SHALL PROVIDE THICKNESS MARKERS WHICH ARE INSTALLED
AT LEAST ONEFOR EVERY 300 SQUARE FEET THROUGHOUT THE
ATTIC SPACE"IF THE INSULATION IS BLOWN INTO PLACE. THE
MARKERS SHALL BE AFFIXED TO THE TRUSSES AND MARKED WITH
THE MINIMUM INITIAL INSTALLED THICKNESS AND MINIMUM SETTLED
THICKNESS. EACH MARKER SHALL FACE THE ATTIC ACCESS PANEL.

NOTE:

CONCEALED WALL SPACES SHALL HAVE FIRE BLOCKING AT CEILING
AND FLOOR LEVELS AND HORIZONTAL INTERVALS NOT EXCEEDING 10
PER IBC 718.2. FIRE BLOCKING MAY CONSIST OF TWO INCH NOMINAL
MATERIAL OR INSULATION MEETING IBC REQUIREMENTS.

2x4 SPACER BLOCKS

VERIFY INTERIOR
FINISH OF DOOR /— GYPSUM WALL LINER

AND WINDOW JAMBS _
==
1
2x6 VERTICAL JAMB \
\f INTERIOR GIRT

|
SERVICE DOOR \i
/WINDOW
\7‘_1

STEEL PANEL
0.S.B. WALL SHEATHING
2x4 SPACER BLOCKS

HEM TRIM
J—TRIM

SERVICE DOOR/WINDOW JAMB DETAIL

SCALE: 3"=1'-0"

2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)

PREMIUM PRO—RIB STEEL PANEL SECURED
PER STEEL APPLICATION DETAIL SHEET.

TRUSS

TRUSS PLACED INTO COLUMN:
FULL BEARING. (SEE DETAIL F/18) 12

” 3
24" BOXED EAVE [
(SEE DETAIL C/18)

/— (R—38) CEILING INSULATION

2x4 SOFFIT NAILER ot W/ 4 MIL POLY
(SEE DETAIL C/18) !
NOTE: \ |
SOFFIT NAILER SECURED TO '
COLUMNS BETWEEN TRUSSES. ,v,::.AmWA_".AJ‘,..AH__A___A_’Z‘.,-,A._MA_MAW’L_ TRUSS BEARING _
DO_NOT NOTCH TRUSSES! = ELEV. 110—1 1/8
<
oo
PREMIUM PRO—RIB STEEL [ > »
PANEL SECURED PER STEEL :3 5/8” GYPSUM CEILING LINER
APPLICATION DETAIL SHEET. = 2x4 SUB—PURLINS ON EDGE @ 24”
NOTE. > 0.C. SECURED TO EACH TRUSS
WATER—RESISTIVE BARRIER > W/(2)-30d RINGSHANK NAILS
PLACED BETWEEN STEEL oo
PANEL AND SHEATHING. <
P 2x4 INTERIOR GIRTS @ 24" O.C.

v

2x6 FLAT WALL GIRTS @ 24" O.C.

(START GIRT SPACING @ FINISHED (START GIRT SPACING @ FINISHED FLOOR)

TR

FLOOR) | 1/2” GYPSUM WALL LINER
oo SECURED TO ALL FRAMING
COLUMN (SEE COLUMN <4 MEMBERS W/ #6x1 1/4" TYPE W
& BRACKET SCHEDULE) o2 COARSE THREAD DRYWALL SCREWS  1p—q 1/g”
o @ 4” 0.C. MAX. ALONG PANEL

EDGES & 12" 0.C. @ INTERMEDIATE
FRAMING MEMBERS.

(R—19) WALL INSULATION
/ W/ VAPOR BARRIER
BOTTOM OF WAINSCOT NAILER &

ELEV. 102'=9 1/4”

%

2x6 WAINSCOT NAILER

v

e

36" NOVA—BRIK WAINSCOT

X

MR

R LA

3/4" TREATED PLYWOOD SHEATHING
SECURED TO ALL FRAMING MEMBERS

\/

Sseast /v _
TR

&

W/ 104 COMMON NALLS © 6" 0.C. e /— 2x6 WAINSCOT GIRTS @ 12" 0.C.
]2
2x8 TREATED GRADEBOARD »'1'7‘ 2x4 TREATED GRADEBOARD
%% TAIL B/1
(SEE DETAIL B/18) vé’e Z’é / (SEE DETAIL B/18)
il
miw%ﬂ - . FINISHED FLOOR
__”__lﬁﬁ%m”lg s;\;$ ELEV. 100'-0
== j = 5” CONCRETE FLOOR
AR L (MATERIALS BY OTHERS)
30?00?0 X | |:E|1_:l_| il
SN 6 MIL (0.006 INCH) POLYETHYLENE

W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

HAUNCHED CONCRETE FOOTING
(MATERIALS BY OTHERS) (SEE SHEET S9)

/"AN\50'x110" BUILDING SIDEWALL SECTION
\18/ SsCALE: 1/2"=1-0"

&

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876-5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI
PROF. ENGINEER:  XXXX
PLAN DESIGNER: ~ CHOUA KHA

DRAWN BY: KWK
DATE: 4/25,/2025
SCALE: AS NOTED
REVISIONS
[NolpATE DESCRIPTION BY
1
2
SHEET TITLE:

50’x110° BUILDING SIDEWALL
SECTION AND SECTION
DETAILS
FILE NAME: BO7425WI

SHEET NO.

516

/




ENDFRAME

STEEL PANEL
|

I
WALL INSULATION

2x6 FIRE BLOCKING\
|
|

1
|
J
|
|
|
|
|
|

CEILING INSULATION
W/ 4 MIL POLY

2x4 SUB—PURLINS |
ON EDGE @ 24” 0.C.

\ \\ GYPSUM CEILING LINER
j. 2x4 CEILING NAILER |

\ 2x4 WALL NAILER
] GYPSUM WALL LINER

-
\

| A
TR

COLUMN -

/B CEILING CONNECTION DETAIL

\J19/ SCALE: 1 1/2"=1"-0"

2x6 FASCIA
BOARD

STEEL PANEL

2x4 ROOF PURLIN EXTENDED [
/22 1/2" BEYOND ENDFRAME
—7\ —27 "\ —7 N\

GABLE TRIM

L—4 TRIM e ﬂ'

VENTED STEEL SOFFIT PANEL

J-TRIM W/ SMALL FRIEZE

/ [

b

|
22 1/2" \ COLUMN'

|
STEEL PANEL ? |
ENDFRAME

N\

(o 24"

BOXED GABLE DETAIL

19 / SCALE: 1

24" BOXED GABLE
(SEE DETAIL C/19)\

ENDWALL SECTION FASTENER NOTES

MANSARD JACK:

1/2"=1"-0"

PRO—RIB STEEL PANEL SECURED PER
STEEL APPLICATION DETAIL SHEET.

2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)

N N o N N

SOFFIT NAILER TO COLUMN LOCATION.

MANSARD JACKS SECURED TO TRUSS WITH (2)—60d RINGSHANK ENDFRAME i
NAILS, 16" MIN. APART. -
SOFFIT NAILER: ENDFRAME:

SOFFIT NAILER SECURED WITH (2)-30d RINGSHANK NAILS AT EACH ENDFRAME SECURED TO ALL ENDWALL

COLUMNS WITH (5)—30d RINGSHANK. NAILS
AT EACH ENDFRAME TO COLUMN LOCATION.

WALL GIRTS:
WALL GIRTS SECURED WITH (2)—30d RINGSHANK NAILS AT EACH
GIRT TO COLUMN LOCATION.

INTERIOR TREATED GRADEBOARD:
TREATED GRADEBOARD SECURED WITH«(2)—30d RINGSHANK NAILS AT
EACH GRADEBOARD TO COLUMN LOCATION.

NOTE: (START GIRT SPACING AT
OWNER SHALL PROVIDE THICKNESS MARKERS WHICH ARE INSTALLED WAINSCOT NAILER)

AT LEAST ONE FOR EVERY 300 SQUARE FEET THROUGHOUT THE
ATTIC SPACE IF THE INSULATION IS BLOWN INTO PLACE. THE
MARKERS SHALL BE<AFFIXED TO THE TRUSSES" AND MARKED WITH
THE MINIMUM INITIAL INSTALLED THICKNESS AND MINIMUM SETTLED
THICKNESS. EACH MARKER SHALL FACE THE ATTIC ACCESS PANEL.

NOTE:

CONCEALED WALL SPACES SHALL HAVE FIRE BLOCKING AT CEILING
AND FLOOR LEVELS AND HORIZONTAL INTERVALS NOT EXCEEDING 10’
PER IBC 718.2. FIRE BLOCKING MAY CONSIST OF TWO INCH NOMINAL
MATERIAL OR INSULATION MEETING IBC REQUIREMENTS.

2x8 TREATED GRADEBOARD

(SEE DETAIL B/17)

(R=10) HIGH DENSITY PERIMETER
INSULATION EXTENDING 4’ INTO BUILDING
(REQUIRED IN HEATED BUILDINGS)

EXTERIOR TREATED GRADEBOARD: PREMIUM PRO-RIB STEEL
TREATED GRADEBOARD SECURED WITH (4)—30d RINGSHANK NAILS AT PANEL SECURED PER STEEL R
EACH GRADEBOARD TO COLUMN LOCATION. APPLICATION DETAIL SHEET.

2x6 FLAT WALL GIRTS @ 24" 0.C.

COLUMN (SEE COLUMN

& BRACKET SCHEDULE) 1/2"
R SECU
MEMBERS W/ #6x1 1/4” TYPE W

COARSE THREAD DRYWALL SCREWS

(R—38) CEILING INSULATION g
y / W/ 4 MIL POLY

T-

AN ;
AN

NN N N NS ENDFRAME BEARING

<~

(SEE

Q@ 47
EDGE

CEILING CONNECTION

2x4 INTERIOR GIRTS @ 24" O.C.

\ (START GIRT SPACING @ FINISHED FLOOR)
(R-1
/ W/ VAPOR BARRIER

FRAMING MEMBERS.

(SEE DETAIL B/17)

\ / 2x4 TREATED GRADEBOARD

ELEV. 110—1 1/8"

— 5/8" GYPSUM CEILING LINER

2x4 SUB—PURLINS ON EDGE @ 24"
0.C. SECURED TO EACH TRUSS

W/(2)-30d RINGSHANK NAILS

DETAIL B/19)

9) WALL INSULATION
10'-1 1/8"

GYPSUM WALL LINER
RED TO ALL FRAMING

0.C. MAX. ALONG PANEL
S & 12" 0.C. @ INTERMEDIATE

| , FINISHED FLOOR

S

R R S ELEV. 100'-0"

== N 5" CONCRETE FLOOR

I NI
- [ (MATERIALS BY OTHERS)

X |||:m:|||_—"

“_..
N —

6 MIL (0.006 INCH) POLYETHYLENE
W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

HAUNCHED CONCRETE FOOTING

(MATERIALS BY OTHERS) (SEE SHEET S9)

/AN 50'x110" BUILDING ENDWALL SECTION

\19/ SCALE: 1/2°=1"-0"

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 878-5555

DESIGNER A

FOR QUESTIONS PLEASE CONTACT BUILDING

T THE FOLLOWING:

ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER: XXXX

PLAN DESIGNER: CHOUA KHA

DRAWN BY: KWK
DATE: 4/25 /2025
SCALE: AS NOTED
REVISIONS
[NolpATE DESCRIPTION BY
1
2
SHEET TITLE:

50'x110" BUILDING ENDWALL
SECTION AND SECTION

DETAILS

FILE NAME:

BO7425W|

SHEET NO.

5719

/




i

i
— = _m_ - =
ll
ll
ll
ll
I TR
Il
Il
I
ll
S || I
—_—— _m_ —_——
ll
Il
T
i

ENGINEERING SERVICES

| I I | | I I | | : (I 5311 KANE RD. EAU CLAIRE, WI 547038 (715) 876—5555

[ [ [ [ [ [ [ [
#_:_:45_=_=1_=_=_:L_ :—:4:—:—2‘1—:—:—:1:— = :—:—:—:—:—:—:—:—mz m=Eees=es=== :L_ #—:—:‘l‘:—:—:l—:lgm] EgEIG?\IL[JE%STA?NTSHEP LFE (/D\LSEOV(V:I?\I%:TACT BUILDING

ENGINEERING@MIDWESTMANUFACTURING.COM
PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI
PROF. ENGINEER: ~ XXXX
PLAN DESIGNER: CHOUA KHA

2x6 BEARING BLOCKS

DRAWN BY: KWK
DATE: 425 /2025
SCALE: AS NOTED
REVISIONS
SECOND FLOOR FRAMING PLAN - - NO[DATE DESCRIPTION BY
SCALE: 1/4"=1'—0" r_I‘T’I_'l r:’ljﬂ 1

2

(
|

| |

| e |

| |' |

| |

| 7/7 | g SHEET TITLE:

| 2 | SECOND FLOOR FRAMING
: g I PLAN AND DETAILS

L ©

AN ]

\ [~ FILE NAME: BO7425WI

—_—— —— — — — — — —— —

SHEET NO.

N%
BUILDING KEY PLAN i SZ 0

NOT TO SCALE

/




NOTE:

A FLIGHT OF STAIRS WITH MORE THAN 3 RISERS SHALL BE
PROVIDED WITH AT LEAST ONE HANDRAIL FOR THE FULL LENGTH
OF THE FLIGHT. (SPS 321.04(3)(a)1)

NOTE:

HANDRAIL HEIGHT, MEASURED ABOVE STAIR TREAD NOSINGS,
SHALL NOT BE LESS THAN 30" AND NOT GREATER THAN 38”.
(SPS 321.04(3)(b)1.a)

NOTE:

GUARDS SHALL BE CONSTRUCTED TO PREVENT THE
THROUGH—PASSAGE OF A SPHERE WITH A DIAMETER OF 4 3/8”,
WHEN APPLYING A FORCE OF 4 POUNDS. (SPS 321.04(3)(c)3)

NOTE:

HANDRAIL SHALL RETURN TO A WALL, OR PROVIDED WITH A
FLARED END, THE HORIZONTAL OFFSET BETWEEN THE 2 RAILS IS
NO MORE THAN 12 INCHES MEASURED FROM THE CENTER OF
THE RAILS. (SPS 321.04(3)(b)6.c.)

NOTE:

HANDRAILS AND GUARDS ARE TO BE CONSTRUCTED TO RESIST
A SINGLE CONCENTRATED LOAD OF 200 LBS APPLIED IN ANY
DIRECTION. (SPS 321.04(3)(a)4.q)

NOTE:
FOR ADDITIONAL HANDRAIL AND GUARD INFORMATION PLEASE
SEE SPS 321.04.

//—’_\\\

/
| ” | RISER
10 I \RISER (RIP\ HEIGHT
TO FIT)
\ [>\\< |
\ TREAD (RIP
TO FIT)

STAIR STRINGER

INTERMEDIATE TREAD WIDTH DETAIL

SCALE: 1 1/2"=1"-0"

\\
/
2x4 TREATED NAILER SECURED TO FIRST ~

HOUSE STAIRS

STRAIGHT

STAIRS

RISER HEIGHT

RISER_QTY.

7 7/8°

15

7 3/4°

1

N
/ \
/
| , | RISER
/ ‘ 10 | HEIGHT
RISER \ FLOOR
HEIGHT \ / (MATERIAL)BY OTHERS)
4 /
_ STAIR STRINGER

FLOOR @ OWNER’S /CONTRACTOR'’S
DISCRETION SUCH THAT STRINGER DOES
NOT SHIFT DURING NORMAL BUILDING. USE.

—_—_—

BOTTOM TREAD DETAIL

SCALE: 1 1/2"=1"-0"

GUARDRAIL

HANDRAIL

GUARDRAIL

HANDRAIL

34"-38"

N

10"

T

/ |34”—38”

\

FLOOR
/ SHEATHING

<

=

STAIR STRINGER

HANDRAIL DETAIL

SCALE: NO SCALE

\FLOOR

JOISTS

TRINGER

I 2-PLY 1 3/4"x16" LWL
! (2850Fb, 1.9E) GIRDER
/ BEAM (SEE DETAIL B/18)

/ 3/4" T&G SHEATHING

16” FLOOR TRUSS @ 24" O.C.

\

1

/_

MITEK JUS48 FLOOR
TRUSS HANGER

\ /
/
—5/8” GYPSUM CEILING LINER //
/
/
//
Ve
//
7
- /
//

/B TOP_OF STAIRS DETAIL

@ SCALE: 1 1/2"=1"-0"

|
\
/
1 1/4"-2" DIA. HANDRAIL — /

(CIRCULAR) 6 1/2" x 2 7/8" N _ /
(MAX.) (NON—CIRCULAR) e

2x6 HANDRAIL BLOCKING

HANDRAIL DETAIL

SCALE: 1 1/2"=1"-0"

- 36" (MIN.)——(

4 1/2” MAX. 27" (MIN.)

4 1/2” MAX.

STAIR_ CLEARANCE DETAIL

SCALE: 1/2"=1"-0"

| / GUARDRAIL |
36"

16” FLOOR TRUSS @ 16" 0.C.
/3/4" T&G SHEATHING

2-PLY 1 3/4"x16” LVL ;
(2850Fb, 1.9E) GIRDER . !
BEAM (SEE DETAIL C/18) |

| i _—MITEK JUS48 FLOOR

TRUSS HANGER
|

1/2" GYPSUM ——=}
WALL LINER '
|

\—5/8" GYPSUM CEILING LINER

O

(AN\SECTION @ GUARDRAIL
\J19/ SCALE: 1 1/2"=1"-0"

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876—5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER: XXXX

PLAN DESIGNER: CHOUA KHA

DRAWN BY: KWK

DATE: 4/25/2025

SCALE: AS NOTED
REVISIONS

NO|DATE DESCRIPTION BY

1

2

SHEET TITLE:

STAIR NOTES AND DETAILS

FILE NAME:

BO/7425W

SHEET NO.

ST

/




11/2" 15'-9” ' 11/2

OPEN ENDWALL

\22/ L] I
4 | Il
oon [a k7, ’ » ’ ”
= o
| &<
a a
o

NOTE:

ALL DIMENSIONS ARE TO CENTERLINE
OF COLUMNS EXCEPT FOR CORNERS
OR UNLESS NOTED OTHERWISE.

%A
PRO—ANCHOR (PA) BRACKET DESIGNATION

PAB0 = 6" UNIVERSAL BRACKET

LARGE CANOPY FLOOR PLAN

SCALE: 3/8"=1'-0"

COLUMN SCHEDULE

COLUMN # OF

LOCATION COLUMN DESCRIPTION EMBEDMENT COLUMNS FOOTING DESCRIPTION
S1 (10’)—6x6 #2 SYP (S4S) TREATED COLUMN 0'-0" 6 HAUNCHED FOOTING (SEE SHEET S3)
S2 (12’)—6x6 #2 SYP (S4S) TREATED COLUMN 0'-0" 7 HAUNCHED FOOTING (SEE SHEET S3)

BRACKET SCHEDULE

BRACKET NO. OF BRACKETS
DESCRIPTION PER COLUMN BRACKET TO COLUMN BRACKET TO CONCRETE (PER COLUMN)
PA60 1 (2)-1/2"¢x7 1/2" BOLTS, (4) 1/4"x3” WOOD SCREWS (2)-5/8"¢x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT
PA60 1 (2)-1/2"¢x7 1/2" BOLTS, (4) 1/4"x3” WOOD SCREWS (2)-5/8"¢x6" TITEN HD SCREW ANCHORS, 5 3/4” MIN. EMBEDMENT

PRO—RIB STEEL PANEL SECURED PER
STEEL APPLICATION DETAIL SHEET.

7/16" 0.S.B. WALL SHEATHING
SECURED TO ALL FRAMING
MEMBERS W/ 8d COMMON
NAILS @ 6" O.C.

2x4 ROOF PURLINS (ON—EDGE)

(SEE ROOF FRAMING PLAN)

PREMIUM PRO—RIB STEEL
PANEL SECURED PER STEEL
APPLICATION DETAIL SHEET.

COLUMN (SEE COLUMN
& BRACKET SCHEDULE)

| —————————————

VENTED STEEL SOFFIT PANEL

— 2x4 SUB—PURLINS ON EDGE @ 24”
0.C..SECURED TO EACH RAFTER
WZ(2)-30d RINGSHANK NAILS

COLUMN (SEE COLUMN
& BRACKET SCHEDULE)

16'-0"

L
Il
i

" Rl ==l
\ 5" CONCRETE FLOOR E ~ e
(MATERIALS BY OTHERS) . S

6 MIL (0.006 INCH) POLYETHYLENE

W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

(ANSIDEWALL SECTION AT LARGE CANOPY
\22/ SCALE: 1/2"=1-0"

7/16" 0.S.B. WALL SHEATHING SECURED
TO ALL FRAMING MEMBERS W/ 8d
COMMON NAILS @ 6" O.C.

PREMIUM PRO-RIB STEEL
PANEL SECURED PER STEEL
APPLICATION DETAIL SHEET.

SEE DETAIL A/14 FOR
BALANCE OF BUILDING

FRAMING AND FINISHES.

2x12 2400f MSR
SYP (2.0E) RAFTER
@ 2/12 PITCH

i 16»_0»
]

j__

r:‘l' — == == =M == - = == ==
| I I |
| I I |
| | z | |
)
| I 4 I |
| w | o | w |
|5 3 | 5|
| a | w | o | ,
W I A 80"
| 3 | 3 I 2 |
| =1 > | =¥
| | T | |
| I C I |
| | 2x12 2400f MSR | |
SYP (2.0E) RAFTER
I @ 2/12 PITCH |
! ll l: == == —c == - = == - = . :l ll !
f i
SCALE: 37/8"=1"-0"
NOTE:
2x4 ROOF PURLINS (ON—EDGE) AT 24" 0.C. ROOF
PURLINS ARE TO BE SECURED TO THE TRUSS W/(1)—60d
RINGSHANK NAIL AT EACH PURLIN TO TRUSS LOCATION.
NOTE:
2x4 ROOF PURLINS (ON—EDGE). THE FIRST (5) ROWS OF PURLINS
AFTER THE PEAK PURLIN SHALL BE AT 19” 0.C. WITH THE BALANCE
AT 24" 0.C. ROOF PURLINS ARE TO BE SECURED TO THE TRUSS
W/(1)-60d RINGSHANK NAIL AT EACH PURLIN TO TRUSS LOCATION.
2x6 FLASHING NAILER PRO-RIB STEEL PANEL SECURED PER
STEEL APPLICATION DETAIL SHEET.
ENDWALL FLASHING
(SEE DETAIL B/15) 2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)
2x12 2400f MSR
SYP (2.0E) RAFTER 7/16” 0.S.B. WALL SHEATHING SECURED
@ 2/12 PITCH TO ALL FRAMING MEMBERS W/ 8d
I o L COMMON NAILS @ 6" O.C.
/

PREMIUM PRO—RIB STEEL
PANEL SECURED PER STEEL
L APPLICATION DETAIL SHEET.

N _/
N VENTED STEEL

SOFFIT PANEL — 2x12 RAFTER

2x4 SUB—PURLINS ON EDGE
i @ 24" 0.C. SECURED TO
< EACH RAFTER W/(2)-30d

0 RINGSHANK NAILS

1 8'—6"

M- COLUMN (SEE COLUMN

& BRACKET SCHEDULE)

I NI 8'-0
= ST =TT
______ AR ML | |=]| | |
Tl I Dyl
=== . =" ” ; ”lEIT
S il it
= Iﬁgﬂﬁgﬁm—_ ===

5" CONCRETE FLOOR
(MATERIALS BY OTHERS)

6 MIL (0.006 INCH) POLYETHYLENE
W/ JOINTS LAPPED NOT LESS
THAN 6 INCHES

(ANENDWALL SECTION AT LARGE CANOPY
@ SCALE: 1/2"=1"-0"

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 878-5555

DESIGNER A

T THE FOLLOWING:

FOR QUESTIONS PLEASE CONTACT BUILDING
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER: XXXX

LARGE CANOPY FLOOR
PLAN, ROOF FRAMING
PLAN AND DETAILS

PLAN DESIGNER:  CHOUA KHA
DRAWN BY: KWK

DATE: 4/25 /2025

SCALE: AS NOTED

REVISIONS

[NolpATE DESCRIPTION BY
1

2

SHEET TITLE:

FILE NAME:

BO7425W|

SHEET NO.

SLL

/




11/2" ——||=—

11/2

1/2"

SMALL CANOPY FLOOR PLAN

SCALE: 3/8"=1'-0"

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 876—5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER:  XXXX

PLAN DESIGNER: ~ CHOUA KHA

DRAWN BY: KWK

DATE: 4/25/2025

SCALE: AS NOTED
REVISIONS

NO|DATE DESCRIPTION BY

1

2

SHEET TITLE:

SMALL CANOPY FLOOR
PLAN, ROOF FRAMING
PLAN AND DETAILS

FILE NAME: BO7425WiI

SHEET NO.

523

/




CLEAR FLOOR SPACE @ FIXTURES:
60"x59” AT FLOOR MOUNTED WATER CLOSETS
60"x56” AT WALL MOUNTED WATER CLOSET
30"x48" AT LAVATORY

87"
(MIN.)
3" MIN.
32" MIN.
™ I—— CLEAR
OPENING
| ]
\\
= \
— T
// \\?\
/ O\
L/ N
= N e N
[~ TURNING———= 87" (MIN.
DIAMETER [™~""f~7"77 | 96" (PROVIDED)
\ 1
\ 1y
N Il /
~___-7
X
i
[ ] | ,
1 ?
I

RESTROOM 1 FLOOR PLAN

SCALE: 3/8"=1'-0"

CLEAR FLOOR SPACE @ FIXTURES:
60"x59” AT FLOOR MOUNTED WATER CLOSETS
60"x56" AT WALL MOUNTED WATER CLOSET
30"x48" AT LAVATORY

CLEAR FLOOR SPACE @ FIXTURES:
60"x59” AT FLOOR MOUNTED WATER CLOSETS
60"x56" AT WALL MOUNTED WATER CLOSET
30"x48" AT LAVATORY

87"
' 87"
MIN.
(MIN.) (MIN.)
3" MIN.
I |
A C_ ]
4+ =
N 32" MIN.
/ I\ N CLEAR
—————————————— 4——= PENIN -~
________ /_ Y 'i\\\ \ OPENING //
| s L , |
- N 87" |
[~ TURNING — (MIN) / | &7"
DIAMETER | —g» ! (MIN.)
\ ' r—TURNlNc—n—J/__
| / DIAMETER | -1
\\ | 2 | [ S N 57 /
~ I — - \ / /
| N // /
| ~ / 7
! ~—+"
.’ 1
|
32" MIN.
CLEAR ——
OPENING
3" MIN.

RESTROOM 2 FLOOR PLAN

SCALE: 3/8"=1-0"

WALLS & CEILING TO BE COVERED W/
A SMOOTH NON—ABSORBENT MATERIAL

Ve

/

NOTE:
SPACE

36" MIN. WHEN WALL

PERMITS.

TRANSFER SIDE

N

‘ 68" MAX.

NOTE:

WALL FINISH EXTENDING 4 FEET ABOVE
THE FINISHED FLOOR AND 2 FEET BEYOND
THE WATER CLOSET RIM SHALL BE o
SMOOTH, HARD AND NON—ABSORBENT. 3336

17°-19

J

[

T

I}

:

e 2’3'1

THE ENTIRE FLOOR & SIDEWALL TO A —/

HEIGHT OF NOT LESS THAN 6" SHALL

BE MADE WATERPROOF W/ APPROVED
MATERIAL IMPERVIOUS TO WATER

I——— 16"-18"

FRONT TOILET ELEVATION

SCALE: 3/8"=1'-0"

RESTROOM 3 FLOOR PLAN

SCALE: 3/8"=1'-0"

A SMOOTH NON—ABSORBENT MATERIAL

/ WALLS & CEILING TO BE COVERED W/

/

10"-13"

18" MIN.

7"‘-9” }

NOTE: — 2" MIN.
WALL FINISH EXTENDING 4 FEET ABOVE

THE FINISHED FLOOR AND 2 FEET BEYOND i
THE WATER CLOSET RIM SHALL BE
SMOOTH, HARD AND NON—ABSORBENT.

N
|~->
©
=
e

SRR AN N R
;,.‘.,w T TN Sl PRAC VL SN, A SR A SLIC P A N
L

!

A
THE ENTIRE FLOOR & SIDEWALL TO A /
HEIGHT OF«NOT LESS THAN 6" SHALL

BE MADE WATERPROOF W/ APPROVED
MATERIAL IMPERVIOUS TO WATER

SIDE_TOILET ELEVATION

SCALE: 3/8"=1'-0"

/ WALLS & CEILING TO BE COVERED W/

A SMOOTH NON—ABSORBENT MATERIAL

/ REFELECTIVE SURFACE

Vi
77
Z,
\ //4
. 40n
15 34"
MIN. MAX. MAX.
\ ‘-n‘%

\ THE ENTIRE FLOOR & SIDEWALL TO A
HEIGHT OF NOT LESS THAN 6" SHALL

BE MADE WATERPROOF W/ APPROVED
MATERIAL IMPERVIOUS TO WATER

A SMOOTH NON—ABSORBENT MATERIAL

/ WALLS &\ CEILING TO BE<COVERED W/

/

NOTE:

FAUCETS MUST BE WITHIN REACH RANGE AND BE AUTOMATIC OR
OPERABLE WITH ONE HAND. FAUCETS MUST OPERATE WITHOUT
TIGHT GRASPING, PINCHING, OR TWISTING OF THE WRIST AND
REQUIRE NO MORE THAN 5 LBF TO ACTIVATE. LEVER—OPERATED,
PUSH TYPE AND AUTOMATIC CONTROLLED MECHANISMS ARE
ACCEPTABLE. SELF CLOSING VALVES MUST REMAIN OPEN FOR
AT LEAST 10 SECONDS SO THAT SUFFICIENT TIME IS GIVEN TO
PEOPLE WHO MAY HAVE LIMITED ARM OR HAND MOVEMENT.
FAUCETS THAT REQUIRE CONTINUOUS HAND PRESSURE FOR
WATER FLOW CANNOT BE USED. (ADAAG 4.19.5)

NOTE:
HOT WATER PIPES AND DRAIN PIPES UNDER

Tl

27"  APRON
MIN. CLEARANCE

LAVATORIES MUST BE INSULATED. EXPOSED
SHARP OR ABRASIVE EDGES ARE PROHIBITED.

T T
L TR A 4"4"&" $
1

8” MIN.

6" MIN.

17"-19”

UNDERLAP OF
REQ'D C.F.S.

THE TRAP MAY BE INSTALLED PARALLEL TO
THE WALL SO THAT IT IS LOCATED OUTSIDE
THE KNEE/TOE SPACE. (ADAAG 4.19.4)

THE ENTIRE FLOOR & SIDEWALL TO A
HEIGHT OF NOT LESS THAN 6" SHALL
BE MADE WATERPROOF W/ APPROVED
MATERIAL IMPERVIOUS TO WATER

FRONT SINK ELEVATION

SCALE: 3/8"=1'-0"

SIDE_SINK ELEVATION

SCALE: 3/8"=1'-0"

48" MIN.
; {
5" MAX— 15"
: —|| MIN.
-
—— .____L____
| -
|
30"MIN. | F\
| [
|
|
B m = ———1
I‘— 24” |
48”x30” CLEAR SPACE SLOPED — | MAX.
2% MAX. IN ANY DIRECTION | )

15" MIN. —

[=-30" MIN.

<

|._ 16"-18"

L. |
59"
MIN.
&
~———60" MIN
L+ ~»_ __ . ___3

CLEAR SPACE REQUIREMENTS

SCALE: 3/8"=1'-0"

LYE)_

=—236" MIN.

|

.‘/L.

GRAB BAR LOCATIONS

SCALE: 3/8"=1"-0"

A SMOOTH NON—ABSORBENT MATERIAL

/ WALLS & CEILING TO BE COVERED W/

/

12"
MAX.

#‘«42" MIN.

NOTE:

WALL FINISH EXTENDING 4 FEET ABOVE
THE FINISHED FLOOR AND 2 FEET BEYOND
THE WATER CLOSET RIM SHALL BE
SMOOTH, HARD AND NON—ABSORBENT.

.?—2

T4 v oadle Lty AT
L YR PP NN
r

THE ENTIRE FLOOR & SIDEWALL TO A /
HEIGHT OF NOT LESS THAN 6" SHALL

BE MADE WATERPROOF W/ APPROVED
MATERIAL IMPERVIOUS TO WATER

SIDE_TOILET ELEVATION

SCALE: 3/8"=1'-0"

NOTE:

PER IBC 1109.5, 2 DRINKING FOUNTAINS SHALL BE PROVIDED WITHIN

THE BUILDING, ONE LOW FOUNTAIN WITH MAXIMUM SPOUT HEIGHT OF 36”
FOR A PERSON IN A WHEELCHAIR AND ONE HIGH FOUNTAIN WITH SPOUT
HEIGHT BETWEEN 38" AND 43” FOR A STANDING PERSON. OTHERWISE A
SINGLE DRINKING FOUNTAIN SUCH AS A WATER COOLER THAT IS
ACCESSIBLE TO BOTH A PERSON IN A WHEELCHAIR AND A STANDING
PERSON MAY BE SUBSTITUTED FOR THE HIGH AND LOW FOUNTAINS.

5" MAX— 15
—I | MIN.

0

NOTE:

36" MAX. SPOUT HEIGHT. WATER FLOW o
TO BE PARALLEL TO FRONT OF COOLER.
SPOUT TO BE 3" MAX. IN FROM EDGE

DRINKING FOUNTAIN FLOOR PLAN

SCALE: 3/8"=1'-0"

OF COOLER. 4” MIN. HIGH GROUND 36"MAX.
SLOPE 2% MAX. IN ANY DIRECTION. 27"MIN.
| 9”MIN.
I' o h : " A e X
8" MlN. 6 MAX-

DRINKING FOUNTAIN SIDE ELEV.

SCALE: 3/8"=1"-0"

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 878-5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI

PROF. ENGINEER:  XXXX
PLAN DESIGNER:  CHOUA KHA
DRAWN BY: KWK

DATE: 4/25 /2025

SCALE: AS NOTED

REVISIONS

[NolpATE DESCRIPTION BY
1

SHEET TITLE:

RESTROOM LAYOUT
AND DETAILS

FILE NAME:

BO7425W|

SHEET NO.

524

/




1 i : i i i i
3-10 25'—-9 o
Er =
A T A 7
’ mn n , b’)
8-3 9'-3 \\ J]r / 9'-3 =9
= | =
(N
qu l J — &0 RECEIVING/ “T
e 5'—4 &
=\ — — 9
\I |
L ~ [RESTROOM 3|
N -—
N ey A ki o
-\ FOOD PREP A
WITH SINK l?
*: 2-5 6'-4
I~ 4)_0 //"'6’-9 {/’\
™ — [= = o
| ﬁq /
- e}
16’-9‘/ 710 fT| o/
] © -/
: o't
| 11’-3 /0 K
< ’ \
R £ 1111
e 0]
_ = <
" 6'—10 ' — 1§
\__ b~10 | — I 1
\\\_ /,/ E‘I,j O e \91
o - 19'=2 ~
N ray |
| . & \ \ \ \ \ v
— o N A / /. o 11'=11
L
o ) 120 | ‘
A
.—QJ

IRAVEL DISTANCE OFF FIRST FLOOR
LONGEST TRAVEL DISTANCE: 94'-5"
SHORTEST TRAVEL DISTANCE: 16'-5"

FIRST FLOOR EGRESST PLAN

SCALE: 1/8"=1'-0"

LONGEST TRAVEL DISTANCE:

73-5"

SHORTEST TRAVEL DISTANCE: 57°-0"

LONGEST TRAVEL DISTANCE:

82’-5"

SHORTEST TRAVEL DISTANCE: 66°-0"

SECOND FLOOR EGRESS PLAN

SCALE: 1/8"=1"-0"

i | | —
r
=]
| | = p———————
|
U |
| H
|
|
| =]
L | i ————
/ 15’-4 %
/
506 ——// "?‘
K 8:_’0 (? %_‘ -:::::::::
— === ° ~
:Zﬂ T
\_4-0 b0 12'—9 3-9 14'—7 — ™
15'—4
’\_ 9 //
P =]
=~q
i\
ol’ ‘ol -J'l ===3
L2 ot
u | M
| J
\
\
~ EAN R
NEER(IRSERR | M
THE 7
T T T T T I I |
= /
e
7 ENTRANCE
w/’_%oi_truiu.wt

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 878-5555

FOR QUESTIONS PLEASE CONTACT BUILDING
DESIGNER AT THE FOLLOWING:
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE AREA
VETERINARY CLINIC

LA CROSSE, WI
PROF. ENGINEER: ~ XXXX

PLAN DESIGNER:  CHOUA KHA
DRAWN BY: KWK

DATE: 5,/7,/2025

SCALE: AS NOTED

REVISIONS

[NolpATE DESCRIPTION BY
1

2

SHEET TITLE:

FIRST FLOOR AND SECOND
FLOOR EGRESS PLAN

FILE NAME: BO7425WI

SHEET NO.

526

/




OVERLAP

» » PEAK PURLIN
#10—1" WOODGRIP SCREWS (1/4” HEX HEAD)

ON BOTH SIDES OF EACH MAJOR RIB.

10-1" W IP SCR 1/4” HEX HEA
(SEE PANEL END STEEL LAP DETAIL) AN OODGRIP_SCREWS (1/4 HEX HEAD)

ON ONE SIDE OF EACH MAJOR RIB.
(SEE PANEL INTERMEDIATE LAP DETAIL)

ROOF PURLIN
ENDFRAME TOP CHORD I

#10—1" WOODGRIP SCREWS (1/4” HEX HEAD)—/
ON BOTH SIDES OF EACH MAJOR RIB.

(SEE PANEL END STEEL LAP DETAIL)‘/E
ENDFRAME LATERAL

STEEL WALL PANEL APPLIED FROM THE PEAK

OF THE ENDWALL AND RUN TO THE CORNERS.

#0—1" WOODGRIP SCREWS (1/4” HEX HEAD)
ON ONE SIDE OF EACH MAJOR RIB.

(SEE PANEL INTERMEDIATE LAP DETAIL)

F NDWA T APPLICATION A PEA INTERMEDIAT

#10—1" WOODGRIP SCREWS (1/4” HEX HEAD)
ON ONE SIDE OF EACH MAJOR RIB.

(SEE PANEL INTERMEDIATE LAP DETAIL)

ROOF PURLIN

#10-1" WOODGRIP SCREWS (1/4” HEX HEAD)
ON BOTH SIDES OF EACH MAJOR RIB.
(SEE PANEL END STEEL LAP DETAIL)

STEEL ROOF PANEL APPLIED 2" MIN.
BEYOND EDGE PURLIN/FASCIA BOARD
EDGE PURLIN/FASCIA BOARD

#10—1" WOODGRIP SCREWS (1/4” HEX HEAD)
ON BOTH SIDES OF EACH MAJOR RIB.

(SEE PANEL END STEEL LAP DETAIL)

\,
\,
\,
W\
\,
\
A\
P
/ v

ENDFRAME TOP CHORD

GIRT

ENDFRAME BOTTOM CHORD \#10-1" WOODGRIP SCREWS (1/4” HEX.HEAD)

ON ONE SIDE OF EACH MAJOR RIB.

>< (SEE PANEL INTERMEDIATE LAP DETAIL)
[ OVERLAP

/
=\

[

GIRT

COLUMN —/ 36"

STEEL WALL PANEL (BE SURE FIRST SHEET IS APPLIED
ACCURATELY & SQUARED.)

ROOF & SIDEWALL STEEL APPLICATION.@ EAVE

GIRT 36" 36" GIRT

\\:::: S C( )LUM'Q / //:://

2 ON ONE SIDE OF EACH MAJOR RIB.

M B (SEE PANEL INTERMEDIATE LAP DETAIL)

#10—1" WOODGRIP SCREWS (1/4"_HEX HEAD)—/ ™
ON ONE SIDE OF EACH MAJOR<RIB.
(SEE PANEL INTERMEDIATE<LAP DETAIL)

\ ;
\,
\
\
\
LYY
\,
o \
\
\,
\
\ \
\,
\
\
\,
N®
\,
\
\
\,
\
\
\,

~3 el | IS
STEEL ENDWALL PANEL— | ] LA ™~
e SR (| o || = [~ OVERLAP
] haN -
OVERLAP St

g J/STEEL RISE (SEE GRADE DETAIL)

BOTTOM TRIM (OPTIONAL #0—1" WOODGRIP SCREWS (1/4” HEX HEAD)
( ) ON BOTH SIDES OF EACH MAJOR RIB.

(SEE PANEL END STEEL LAP DETAIL)

#0—1" WOODGRIP SCREWS (1/4” HEX HEAD) ' { RoSe
ON BOTH SIDES OF EACH MAJOR RIB. 3 ;

(SEE PANEL END STEEL LAP DETAIL)

STEEL SIDEWALL PANEL (BE SURE FIRST
SHEET IS APPLIED ACCURATELY & SQUARED.)

GRADEBOARD
GRADEBOARD

WALL STEEL APPLICATION @ GRADEBOARD

STEEL APPLICATION DETAILS

STEEL PANEL INSTALLATION GENERAL NOTES:

UNDERSEATING OF LAP IS NOT PERMITTED.

APPEARANCE RELATED ISSUES.

THE POTENTIAL OF CAPILLARY ACTION OF WATER FROM GETTING UNDER THE STEEL PANEL.

1. PROPER LAPPING OF STEEL PANEL IS VERY IMPORTANT IN THE PANEL'S ABILITY TO PREVENT LEAKING. OVERSEATING AND

2. FASTENER TIGHTNESS IS CRITICAL IN THE LONGEVITY OF THE FASTENER'S ABILITY TO HELP PREVENT LEAKS AND STRUCTURAL
LOAD CARRYING CAPACITY. OVER—TORQUING OF SCREWS WILL REDUCE THE SCREW'S WITHDRAWAL CAPACITY, REGARDLESS OF
THE CONSTRUCTION MATERIALS INVOLVED. UNDER—TORQUING OF SCREWS WILL INCREASE THE POTENTIAL OF ROOF LEAKS.

3. FASTENER LOCATION IS CRITICAL FOR INSTALLERS TO MINIMIZE THE POTENTIAL OF OIL CANNING, DIMPLES, AND OTHER

4. THE ANTI-SYPHON DRAIN CHANNEL MUST BE CLEAR OF DEBRIS AND OBSTRUCTIONS FOR THE PANEL’S ABILITY TO MINIMIZE

| 36" COVERAGE |

‘ 18"

36" COVERAGE

——————-——T

PANEL END STEEL LAP DETAIL PANEL“INTERMEDIATE LAP DETAIL

UNDERLAP PIECE
L

NOT TO SCALE NOT TO SCALE

NOTE:
THE RECOMMENDED PROCEDURE FOR APPLYING CEILING LINER IS:

SCREWS ON BOTH SIDES OF EVERY MAJOR RIB. FOR TRUSSES SPACED OVER 6’ O.C.,
TO IT HALF WAY BETWEEN EACH TRUSS.

APPLYING 1" WOODGRIP SCREWS FROM ONE END OF THE PANEL, HOLDING THE PANEL FLAT
TO THE BOTTOM CHORD OF THE TRUSSES AND BETWEEN THE TRUSSES, THEN APPLYING
ONE SCREW ON BOTH SIDES OF EVERY MAJOR RIB INTO THE FIRST TRUSS. THEN EACH
INTERMEDIATE TRUSS, THEN FINALLY AT THE LAST TRUSS WHERE THE PANEL WILL OVERLAP
THE TRUSS 3”. THE NEXT PANEL ATTACHED TO THE TRUSS WITH 1” OR LONGER WOODGRIP

STITCH SCREW NEEDS TO BE APPLIED AT THE SIDE BY SIDE OVERLAP OF THE PANEL NEXT

A

A
| 4

/— TRUSS TRUSS

3” OVERLAP | OVERLAP PIECE UNDERLAP PIECE
ﬁL | / \

#10—1" WOODGRIP SCREW /3/4” STITCH SCREW/ STEEL CEILING \#10—1" WOODGRIP SCREW;\

(1/4” HEX HEAD) ON BOTH BETWEEN EACH TRUSS LINER PANEL (1/4” HEX HEAD) ON BOTH
SIDES OF EACH MAJOR RIB. AT SIDE BY SIDE OVERLAP SIDES OF EACH MAJOR RIB.
(FOR TRUSSES SPACED
OVER 6" 0.C.)

TRUSS

3” OVERLAP

L

3/4” STITCH SCREW \#10—1" WOODGRIP SCREWS

BETWEEN EACH TRUSS

AT SIDE BY SIDE OVERLAP SIDES OF EACH MAJOR RIB.

(FOR TRUSSES SPACED
OVER 6’ 0.C.)

STEEL APPLICATION DETAIL @ CEILING LINER

SCALE: NOT TO SCALE

36" COVERAGE

TRUSS BOTTOM CHORD\ 18>
9”

<™ <

OVERLAP PIECE UNDERLAP PIECE

STEEL CEILING LINER—LAP DETAIL

NOT TO SCALE

(1/4” HEX HEAD) ON BOTH

ENGINEERING SERVICES

5311 KANE RD. EAU CLAIRE, WI 54703 (715) 878-5555

DESIGNER AT THE FOLLOWING:

FOR QUESTIONS PLEASE CONTACT BUILDING
ENGINEERING@MIDWESTMANUFACTURING.COM

PROJECT TITLE:

LA CROSSE, WI

LA CROSSE AREA
VETERINARY CLINIC

PROF. ENGINEER: XXXX

PLAN DESIGNER: CHOUA KHA

DRAWN BY: KWK

DATE: 4/25 /2025

SCALE: AS NOTED

REVISIONS

[NolpATE DESCRIPTION BY
1

2

SHEET TITLE:

STEEL APPLICATION DETAILS

FILE NAME: BO7425WI

SHEET NO.

S27

/






